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Subject : GE_Q01-Q10_PGTMATH
Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence :
(a) and broke its window pane

(b) threw stones at it

(c) the urchins
(

d) when the car passed by,

(1) (¢) (d) (b) (a)
(2)  (d) (0 (b) (a)
(3)  (b) (a) (c) (d)
(4)  (a) (b) (o) (d)
Options:-

«1, Option ID :- 1,
= 2, Option ID :- 2,
« 3, Option ID :- 3,

= 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.
Some local residents were helping the wounded soldier.

) Some local residents were being helped by the Wounded soldier

|

The wounded soldier was helped by some local residents

2

(
(
&
(

)
) The wounded soldier was being helped by some local residents
)

4)  Help was being given to the wounded soldier by some local residents.

Options:-

=1, Option ID :- 5,
« 2, Option ID :- 6,
=« 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

Question ID:- 3
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Fill in the blank with the correct preposition.

They ran the thief who had stolen their belongings.
(1) from

(2) after

(3) with

(4) in
Options:-

«1, Option ID :- 9,
= 2, Option ID :- 10,
« 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 2, Option ID : -10

Question ID:- 4

Choose the correct tense form from the given options.
This was the first time the mighty king had lost a battle.
(1) Past Indefinite

(2) Past Continuous

(3) Past Perfect

(4) Past Perfect Continuous

Options:-

«1, Option ID :- 13,
= 2, Option ID :- 14,
« 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 1, Option ID : -13

Question ID:- 5

Change the following sentence from Direct Speech into Indirect Speech.

The youngman said to his parents, “You will have to adjust to the changing times’.
(1) That they would have to adjust to the changing times the youngman told his parents.
(2) The youngman told his parents that they must adjust to the changing times.
(3) The youngman told his parents that they would have to adjust to the changing times.
(4) The youngman told his parents that he (the youngman) would have to adjust to the changing

times.

Options:-

=1, Option ID :- 17,

« 2, Option ID :- 18,

=« 3, Option ID :- 19,

= 4, Option ID :- 20,
Answer Given:- 3, Option ID : -19

Question ID:- 6
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Identify the part which has an error in it.

From this place, / Meerut is / over ten miles / the shortest route

(1) (2) (3) (4)

Options:-

«1, Option ID :- 21,
= 2, Option ID :- 22,
« 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

Choose the word nearest in meanjng to the given word.

ABETMENT
(1) enmity
(2) assistance
(3) revenge
(4) reaction
Options:-

«1, Option ID :- 25,
= 2, Option ID :- 26,
« 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 2, Option ID : -26

Question ID:- 8

Choose the word opposite in meaning to the given word.

SLOTHFUL
(1) healthy
(2) active
(3) intelligent
(4) indolent
Options:-

=1, Option ID :- 29,
=« 2, Option ID :- 30,
« 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 4, Option ID : -32

Question ID:- 9
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Identify the part of speech of the given word.

Moderate fasting is good for health, so testify the medical experts.
(1) Pronoun

(2) Verb
(3
(

)
4) Conjunction

Noun

Options:-

«1, Option ID :- 33,
= 2, Option ID :- 34,
« 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Have you finished reading the book
What punctuation mark should be placed at the end of the sentence ?
(1)  Full stop

I3

Mark of interogation

3

(2)
(3) Semi-colon
(4) Mark of Exclamation

Options:-

=1, Option ID :- 37,
« 2, Option ID :- 38,
« 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

Subject : GH_Q11-Q20_PGTMATH

Question ID:- 11

Freferfag T i saFgEs Tge ST SERd YT 1 Hel S e

FHE wHA H fagm =1 favi wee 8 | usiiern &7 & U 9gd 98 o | R 3ere i wlied | uae
oA 51 3HF AN H SRR 9e A i ygia W@ €| TR | S i 3He IUgF Sl 95
e H T oo €1 9Ra € 6 vyl fava § faare wsifes = 9 99 7 F 9 ¥ | fame wsitaEt
& terd eiftrenat Jerl | €1 X < % A 1 oft YeAll, eefifas SR wmEr-w & mem | fasm
AR
Sy = | faer € deg foeg o i yafa w2
(1) 3euI= 1 TEie H 9ec 36! faama saH &
2) To=vH g0 39 I H SHERI W L i
3) Tesry g wdied i
4) o9 TEA SR SAE SEE o H

(
(
(

Options:-
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=1, Option ID :- 41,

=« 2, Option ID :- 42,
= 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

Fr=ferfad wenier 1 sAFYEE Tge SUW AT W9 T TEt S e,

FoaH THF H famma o1 favm mee € 1 3usiarn ol o us 9gd 9 a1 | foRet 3aue o wlied | ve
o g0 3HF AN H SRR e i i ygi W 8 feRE | S i 3he IugHd I 95
Tea § W e €1 9ra € 6 @yl fava § famrs wsife = a9gd 991 77 9fFa 7 | fammm i
& terd eiftenat Ferl | €1 X < o & 1 oft YeAll, Sefifas SR wHEr-w % mem | fasm
TRARE|
formT T 8 € 2
(1) e feam |
2) IEUIE i IUFH U TE TgAH H
3) ufaErft giten § 9wa @1 |
4) wsife % farar difog 0 °

Options:-

«1, Option ID :- 45,
= 2, Option ID :- 46,
=« 3, Option ID :- 47,

« 4, Option ID :- 48,
Answer Given:- 2, Option ID : -46

(
(
(

Question ID:- 13

Freferfag T i saFyEsE Tge ST SAERd U9 1 Tl S e ;

B 791 H fammaa o1 favm wee € 1 3usitern ol % us 9gd 9 9 | TRt 3eue o wlied | ve
oA 51 3HF AN H SRR 9e A i ygia W@ €| TR | S i 3He IUgF Sl 95
e § Herad faerd €1 9rd € e |yl fava # famme wsife 1 aga o= o wiwa € ) famm vt
& terd eiftenat Ferl | €1 X < o & 1 oft YeAll, Sefifas SR wHEr-w % mem | fasm
AR

o wSifai =1 o el aek el 8 7
(1) ¥=Y

(2) WHEM

(3) TSI

(4) Hyol fava

Options:-

=1, Option ID :- 49,
= 2, Option ID :- 50,
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» 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52

Question ID:- 14

TrAfefEd T 1 s TgHt SHHR STHTRT U9 &1 Tel 3 S

A q9 H fomree o6t fau vec € | Uk o % U wgd 98 9 | frdl sae 6 wled 9 ued
foRTo g1 39 9 H SHHR W H H1 99 Wl 8| faae d Sce 1 Sk 399 SYiEdl a5
wEE H wErEa faedt €1 e @ T8 Sy fova # fammon wsite #1 ogd wer 3 9wy ¥ 1 fam it
o e AR HERI H 2 | gL U & &6l | off e, Selfas st eHEr-wE % wer 9 fasne
TEA R R
TS & &3 1 faarm ugam # frefafas § 9 % o 2ees 6 €2

(1) T

(2) e

(3) <etas

(4) HHFER 93
Options:-

=1, Option ID :- 53,
« 2, Option ID :- 54,
=« 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

Question ID:- 15

forefefiam e 1 SAYe Tgeht SR S W 1 el S e

FoaH THA H famma o favm wee €1 Susitern o % Us 9gd 9 a1 | fhet Seue o wlied | ue
oA 51 3HF AN H SRR 9e A i ygia W@ €| TR | S i 3He IUgF Sl 95
g B e faad €1 urd & T8 Gyof favg 9 fagmem wsifadi 1 agd o91 d3 9fwa T famme wsifad
F e AftEa Ter i | € | X T o & 1 off Yedl, 2efifas iR sHeER-wE % mem | fasmm
RAREI

Freferfaa # s/Ema gm € -
(1) S9FH - SAF9IH
(2) @R - iR

(3) SRt - FHHM

(4 9o - H
Options:-

=1, Option ID :- 57,
= 2, Option ID :- 58,
« 3, Option ID :- 59,
= 4, Option ID :- 60,
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Answer Given:- 4, Option ID : -60

Question ID:- 16

T=fafed § sEma 9 © -

(1) =4 ¥ U In Yo 2 aren — aifieh

)  HWIE H Uk SR YHIYE i alel - |iadiiadh
) U fod H U 9’ YeRIiE B A — uiiaes
) HIE H U o Yo B e — Hifeen

(2
(3
(4
Options:-

«1, Option ID :- 61,
= 2, Option ID :- 62,

= 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 4, Option ID : -64

Question ID:- 17

Frefafas § aoam wsg =1 & -
(1) &f=
(2) &
(3) U@
(4) 9
Options:-

«1, Option ID :- 65,
= 2, Option ID :- 66,
« 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

Options:-

«1, Option ID :- 69,
= 2, Option ID :- 70,
= 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69
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Question ID:- 19

AN o STTHR TeH & 95§ ¢
(1)

2

GiE|
(2) =X
(3) U
(49 @
Options:-
=1, Option ID :- 73,
= 2, Option ID :- 74,
=« 3, Option ID :- 75,

« 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20

‘e wfafae §

(1) #+ 9=
(2) HA: + 9
(3) WA+ 3ITE
(4) HAH + AE
Options:-

=1, Option ID :- 77,
« 2, Option ID :- 78,
=« 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 2, Option ID : -78

Subject : GA_Q21-Q30_PGTMATH
Question ID:- 21

Assertion (A) : State can impose reasonable restriction on the exercise of right to freedom of
speech and expression guaranteed by the Indian constitution.

Reason (R) : Reasonable restriction cannot be imposed on right to freedom of speech and
expression in relation to contempt of court.

Choose the correct answer from the codes below :

(1) (A) is correct but (R) is wrong

2) Both (A) and (R) are correct and (R) explains (A)

3) Both (A) and (R) are correct but (R) does not explain (A)
)

(
(
(4) Both (A) and (R) are wrong
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AU (A) : T, WA & FfayM g/ THERRT 9% @64 R Afveafa & s & 93 |

Ffaagaa fefem o wehd €1

e (R) : SIATEd i STAHEAT o Had H 9 WA iR afisaf % afuer w gfege
feraferT =& o 1 e § |

=9 feu 7T %2 | W IH 1 FIA FHiT

(1) (A) T8 & 3 (R) 7o &

(2) (A) 3R (R) SFI, W&l € 91 (R), (A) Tl =& ©

(3) (A) =R (R) 31 w&l € &g (R), (A) it =amen =781 & @
(4) (A) 3R (R) ST e &

2

Options:-

=1, Option ID :- 81,
= 2, Option ID :- 82,
« 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 1, Option ID : -81

Question ID:- 22

Which of the following statements is correct about the “Agile” approach to policy making ?
(1) It follows a rigid up-front plan for implementation

(2) It does not use feedback loops

(3) It uses real-time adjustment

(4) Itis the same as the ‘waterfall’ framework to policy making

ifa famfo =t ‘ofFg’ (TomEe) 95 ® an | fefates 8 9 6 9 FyE "6 g ?
(1) 4@ foraraaa & fu U 9% Hushe FIs1 &1 Ulei ! ©

(2) I% TISsls U F1 WA &l FAl §

(3) 4% Jac-—213H HHESH 1 JAN Ll 7

(4) e Hifa fmf 1 aevwe Fad taf g ®

2

Options:-

=1, Option ID :- 85,
= 2, Option ID :- 86,
=« 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23
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Who had devised the policy called the ‘Doctrine of Lapse” in Colonial India ?
(1) Lord Dalhousie

(2) Lord Hastings

(3) Lord Cornwallis

(4) Lord Wellesley

sirafrafrs aa | ‘gew Aifa’ o STHETar B 92

(1) S Serarsit

(2) wie sEw

(3) e FwHaMEH

(4) IE Seiea
Options:-

«1, Option ID :- 89,
= 2, Option ID :- 90,
« 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 1, Option ID : -89

Question ID:- 24

Which of the following is the finest iron ore with high content of iron upto 70% ?
(1) Hematite

(2) Magnetite
(3) Mica
(4) Cobalt

ffafas § 3 Sap= @ o1a%s &9 @ § foad 70 ufoew e e e s g ?

(1) THERe
(2) HHRE
(3) YF
(4) IR
Options:-

«1, Option ID :- 93,
= 2, Option ID :- 94,
« 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93

Question ID:- 25
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tests in the outer space and under water ?
(1) Nuclear Non-Proliferation Treaty
(2) Limited Test Ban Treaty

(3) Strategic Arms Limitation Talks I
(4)

4) Comprehensive Nuclear Test Ban Treaty

yfqsifera feram o1 ?

(1) OTHTY] STYER HiY

2)  Hifa s giasy |y

3)  OMRE SHFR e a1

(
(
(4) =9 qLEY] giiem gfasy Hiy
Options:-

=1, Option ID :- 97,

= 2, Option ID :- 98,

= 3, Option ID :- 99,

« 4, Option ID :- 100,
Answer Given:- 1, Option ID : -97

GET IT ON
Google Play

Which among the following was the earliest arms control treaty which banned nuclear weapon

Frefeafea § | vt s s | S w ot f5aa ard siafta s a3 19 o] g adeon

Question ID:- 26

Which of the following units makes Cellulose ?
(1) Fructose

(2) Glucose
(3) Sucrose
(4) Ribose

fafarfaa § 4 29 0 39 | Seges &1 Ffo 8 8 2
(1) F

(2) TIHRS
(3) AN
(4) TEES
Options:-

=1, Option ID :- 101,
= 2, Option ID :- 102,
= 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 4, Option ID : -104

Question ID:- 27
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Which of the following are Oviparous animals ?
(1) Hen and Cat

(2) Cat and Dog

(3) Crow and Dog

(4) Hen and Crow

freferfaa 8§ § B9 § Ty sty 2
(1) it AR feeedt

(2) ot R g

(3) I 3T F

(4) T Sl

Options:-

=1, Option ID :- 105,
= 2, Option ID :- 106,
=« 3, Option ID :- 107,

« 4, Option ID :- 108,
Answer Given:- 4, Option ID : -108

Question ID:- 28
Who among the following players won the FIFA World Cup 2022, “Young Player of the Tournament”
award ?
(1) Kylian Mbappe
(2) Alexis Mac Allister
(3) Rodrigo De Paul
(4)

4 Enzo Fernandez

HIE ge HY, 2022 H AT S g ZatHe’ @ e fad fears! 5 iar?
(1) e Jard

(2) eIy H% ufawt

(3) qfe <t uie

(4) TSl EASS

Options:-

=1, Option ID :- 109,

= 2, Option ID :- 110,

« 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 1, Option ID : -109

Question ID:- 29
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Who among the following authors won the ‘Sahitya Akademi Yuva Puraskar” 2022, in Sanskrit,
language ?

(1) Madhusudan Mishr

(2) Pankaj Kumar Jha

(3) Shruti Prasad Kanitkar

(4) Shubrajit Sen

TEpd T | HiiEet SYepeH! Fa R, 2022 fefatad | 9 R o e ?

(1) wyEe g

(2) WS FHR

(3) gfd WHE SHIfHdRT

(4) Yysia 94
Options:-

=1, Option ID :- 113,
= 2, Option ID :- 114,
=« 3, Option ID :- 115,

« 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30

Match the terms given in List - I with their nature/use in List - II.

List -1 List - IT
(A) USB (I)  Enables user to access programs on a computer through image objects
that are linked to the programs
(B) GUI (II) A file format used for compressed image files
(C) GIF (IIT) A software designed to take a scanned text as input and convert it
mto its ASCII coded equivalent
(D) OCR (IV) Connects peripherals in which data is transmitted serially

Select the correct answer using the codes given below :

(D (A)-D), (B)-(I), (O)-(), ( )-(IV)
(2) (A1), (B)-(IL), (O)-IV), (D)-I)
(3)  (A)-(II), (B)-(IV), (CO)-(D), (D)-(II)
(4)  (A)-IV), (B)-(I), (©)-(11), (D)-(11T)
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(D) (A)-(), (B)-(I), (O)-(Im), (D)-(IV)

(2) (A1), (B)-(I), (O)-(IV), (D)-(I)
(3) (A)-(II), (B)-(IV), (©)-(I), (D)-(II)
(4)  (A)-(IV), (B)(D), (C)-(II), (D)-(II)
Options:-

«1, Option ID :- 117,
= 2, Option ID :- 118,
« 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 4, Option ID : -120

et -1 4 fou e ugi &1 gEi-11, § 5 70 39 wehfa/uam ¥ fqem wife

GET IT ON
Google Play

Tl -1 gt -11
(A) Juma () SR o1 W o o g sifssiae o WA | Pt W U &1 T
T I I §
(B) i g & (1) TS SHS FEal & oIl TR Tk FiEd HHS
(C) it 3TE TF (111) forel T foRu 7T 2R o1 ST TSR oid U 1R 39 38 ASCIL shifeT
HHEd H dgel 2 S T " aT

(D) it 9t 3R (Iv) Sfwee =t sirean § foed 2 sfves w9 § giafie 2
e fou 7T e 1 WART Tk el ST 1 T4 Hifa ;

Subject : RA_Q31-Q35_PGTMATH

Question ID:- 31

(?) in the given number series.
6, 24, 60, 120, 210, ?

(1) 330
(2) 336
(3) 366
(4) 39

6, 24, 60, 120, 210, ?

(1) 330
(2) 336
(3) 366
(4) 396

Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,
= 3, Option ID :- 123,

Choose the correct alternative that will continue the same pattern and replace the question mark

Y wal fasreq =1 =997 & S fou U Heen gaen | 36 T2 o S W SR e T () o A |
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= 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122

Question ID:- 32

Nine books are kept one over the other. Counting from the bottom, the third and seventh books
are Text Books. Two books of General Awareness are below a story book. One book on plays is
above the Text Book and another book on plays is below the Text Book. One book on poetry is
above the book on plays while the other book on poetry is below the book on plays. Which book is
fifth from the bottom ?

(1) Poetry Book

(2) Plays Book
(3) Story Book
(4) General Awareness Book

 JT TH-THR F TR G g © 1 e wm e o aee qieh e § 9 9 Hw
Y& Ueh el T Y& & A" § | A12H i Uk JEF EITKF & T ¢ AN eE w gl [HE
EAYEIE % AH | Hid H Uh [EE ALE Rl TKF b S 8 Safer Hfad wl gud g e 6
X F A § | e ied e dE 9 e ?

(1) Hfaa #i =
(2) FTEF I TKh
(3) =hEHI I T
(4) T T I GRS

Options:-

=1, Option ID :- 125,
= 2, Option ID :- 126,
= 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 33

If ‘North-East’” is called “West', ‘South-East’ is called ‘North’, ‘South-West” is called ‘East’ and
"North-West’ is called ‘South’. What will “East’ be called ?

) North-West

) North-East

) South-West

) South-East

|

3

(
(
(
(4
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Ffg ‘Sa-qd ' w1 ufvEn’, gfo-ue I, sfR-afven g Sl Ie-ufves e feen
=l S Al g =i 2R hEl S ?

(1) F-ufe=H

(2) SR

(3) fao-gfv=m

(4) afEo-gd
Options:-

=1, Option ID :- 129,
= 2, Option ID :- 130,
= 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Q.

(1)

Y

(1)

Question ID:- 34

A question is given below followed by two statements numbered I and II each containing some
information. Decide which of the statements are sufficient to answer the question ?

Rohan is in which direction with respect to Pankaj ?

Statement I : Rohan is to the South of Tanya who is to the East of Dolly.
Statement I : Pankaj is to the East of Tanya.

The statement I alone is sufficient to answer the question while the statement II alone is not
sufficient to answer.

The statement II alone is sufficient to answer the question while the statement I alone is not
sufficient to answer.

Both statements I and II together are necessary to answer the question.
Both statements I and II together are not sufficient to answer.

= sk weA e e 7 fow ag Fwye-1 iR 11 e e § 5 i § $o S € T g1 98 ol
Hifeu T &iF G/H FHY 99 F1 SR o4 & fore g 878 2

U, donst ot Torg feom § &2

HAT1: T, 901 & 3fer0 H 8 o for <fell Sy H )
WYA I :  Uehol, AR g9 § &

3T HUF-1 & U9 1 ST &4 & foru gaie & Sefes 1ohed H9A-11 999 &1 ST &4 & fou waie =1
Tl

AFA FAT-11 8 U9 & IH 24 & fou 73 § Sl 37hel HeA-1 999 &1 3T 24 & fean g &
2

FU-1 SR FYF-I1, <1, 19 TR 997 1 39 24 & few aagas &
FUA-1 3 FHY-11, S T TR Wi 999 &1 3 o7 & foru waia =1 €

Options:-
=1, Option ID :- 133,
= 2, Option ID :- 134,



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

= 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

In the following figure, triangle represents men, circle represents post-graduates and square
represents sub-inspectors of police.

14
8 12
5
6 9 =
~__ ¥

Which number represents female post - graduates, sub-inspectors of police ?

(1) 5
(2) 8
3) 9
4) 12

Freafafad srefa § s gesi 31, 99 Sasl @1, a1 a9 i & Ja-3eeedl %l <9 ¢ |

14
8 12
5
6 9 =
~__ V7

A d e qfeen Fe i Yfad ga-geiaed &l vl & 2

L 3
(2 8
(3) 9
(4) 12
Options:-

=1, Option ID :- 137,
= 2, Option ID :- 138,
= 3, Option ID :- 139,

= 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Subject : CL_Q36-Q40_PGTMATH

Question ID:- 36
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The following is not by default installed with MS Windows.
(1) MS Paint

(2) Notepad

(3) Clock

(4) MS PowerPoint

frefafad § 9 = wq g f9eie § =a; (96 fewee) s« 7= 2 & 7

(1) THTHEIZ

(2) ¥RTS

(3) FAH

(4) TH TH YER@EREe
Options:-

=1, Option ID :- 141,
= 2, Option ID :- 142,
=« 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

is not a basic function of MS Excel.

(1) count()

(2)  sum()

(3) max()

(4) addition()

T TH THd & IS HRE 6 T

(1) count()

(2)  sum()

(3) max()

(4) addition()

Options:-

«1, Option ID :- 145,
= 2, Option ID :- 146,
=« 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38
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Which of the following is true about cell range in MS Excel ?
(1) Collection of chosen cells

(2) Collection of formula
(3) Collection of values
(4) Collection of occupied cells

Freafafed & 4 ©a w8 v 90 39 % S H = w@ e ?
(1) T 8T HSA &1 GUEW

(2) AR T HTE

(3) oY I HIE

(4) YR T (AIIEES) Tell H1 HIE

2

Options:-

=1, Option ID :- 149,
« 2, Option ID :- 150,
=« 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 1, Option ID : -149

Question ID:- 39

Which of the following cannot be reported as Cyber Crime ?
(1) Threatening someone on social media platform

2) Theft of a brand new hard disk from a showroom

3) Sharing of pornographic content online

(
(4) Entering in someone’s online bank account and transferring money from there without
his/her consent

frafafaa 5 4 50 OEe 21909 F ®9 H g9 761 Ul S Tl § 2

(1) Hwre Hitean wizwm 1 fFHE sl gushmE

) Tt vivew | w8 wre-fews &1 =@

) Avela faug-a%g o1 Aensd IR HE

) Tt =t wenfa & famm sa% oifTens e 1= § ory e SR 359 U9 i T

(2
(3
(4
Options:-

=1, Option ID :- 153,
« 2, Option ID :- 154,

=« 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40
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What does ‘s’ stand for in https ?

(1) Secure
(2) Security
(3) Stream
(4) Space

https H “s” o1 o1 319 82

(1) f=RR
(2) TegfE
(3) M
(4) g
Options:-

=1, Option ID :- 157,
= 2, Option ID :- 158,
=« 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158

Subject : UL_Q41-Q55_PGTMATH
Question ID:- 41

The proximodistal principle states that development of the body proceeds from :
(1) head to legs

2) legs to head

3) outward to the center of the body

4)  the center of the body outward

(
(
(

yirdiifews fagrd o8 sam @ foF ik = fasm %l SR H YE A B |
(1) fma®R

(2) WO

(3) @B Y IR * HEA H AR

(4) IR HEY [ AL AR

Options:-

«1, Option ID :- 161,
= 2, Option ID :- 162,
« 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 1, Option ID : -161

Question ID:- 42
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Adam’s apple is :

(1) an endocrine gland that releases hormones.
2) the embryonic outgrowth during prenatal stage.
3) the protruding part of throat of male adolescents.

(
(
(

4)  the protruding part of throat of female adolescents.

?‘3‘841%\
(1) U USRI T S i %1 g ! @

(2) wEaEyd feafd % SRE o = el i
(3) ToraTrl = w1 =h1 ATE fekett g WM
(4) ToReidEl & et @ arex ket gan
Options:-

=1, Option ID :- 165,
« 2, Option ID :- 166,
=« 3, Option ID :- 167,

« 4, Option ID :- 168,
Answer Given:- 1, Option ID : -165

Question ID:- 43

No one taught a 8 months old child to crawl. But one day, the child started crawling. On the part
of the child, it shows his/her :

(1) growth

[

)

(2) development
(3) maturation

(4) morphogenesis

8 T % STeish I U1 RIS 81 faam 2 | féhg weh fa areres T 376 L <1 § | S @i i § 9% 39t/
I %1 TN 2

(1) dfs

(2) foerm

(3) OitgEEH

(4) HET-faeE
Options:-

=1, Option ID :- 169,
= 2, Option ID :- 170,
=« 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 4, Option ID : -172

Question ID:- 44
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Which one of the following is the correct option ?

(1) Development and growth are the process and product of maturity.
(2) Development and maturity are the process and product of growth.
(3) Growth and maturity are the process and product of development.
(4) Progress and maturity are the process and product of development.

f=fafad § 9 & @1 faswey w2 & 2

(1) fawm ik gfg aftgaem =i ufwman R seme €
) faema iR uftweaar gfig i gferan o s )
3) dfg 3R uRysaan faswma =t wfran ofn 3o ¥
4)  ymifa &R afvadeen famm #1 wfewan iR sar £

(2
(¢
(

Options:-

«1, Option ID :- 173,
= 2, Option ID :- 174,
= 3, Option ID :- 175,

« 4, Option ID :- 176,
Answer Given:- 4, Option ID : -176

Question ID:- 45

On the part of an individual, the acquisition of values, which the society expects to imbibe and
practice, is known as his/her :

(1) social development

(2) moral development
(3) emotional development
(4) spiritual development

Torelt =afaa =l 3R | 39 gedl #1 AfSd T, fSHs! TSt U8vl 3 a9 iy i S7Ien 8 S9!

AT S B
(1) =TSR faerm
(2) Hfaw fawm
(3) e fasRmd
(4) emeaEferr faemd
Options:-

=1, Option ID :- 177,
= 2, Option ID :- 178,
= 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 1, Option ID : -177
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Question ID:- 46

In class VIII Mathematics, the concept ‘Simple Interest’ is taught first and then the concept
‘Compound Interest’ is taught. This is in accordance to the :

) Cognitive development of the students
Physical development of the students

e B . TR i T il
[

)
3) Social development of the students
4) Moral development of the students

-2 % 0 H, Ygel W0 A= e ol @ &R e el e T' F TR
2

(1) Tornfelai & Hammees fawm

(2) fornfef=i o wifer fasma

(3) Ternfei o qmTfse fawm™

(4) Toenfer & Sfow fawm

Options:-

=1, Option ID :- 181,
= 2, Option ID :- 182,
« 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

In human infants, in comparison to total body length the head constitutes :

B = = W= e
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THa forggedi #, IR w1 Fd e i ger J 9 e §

1
1 3
1
@ 3
1
3) 7
1)
(4) 3
Options:-

=1, Option ID :- 185,
« 2, Option ID :- 186,
=« 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48

The infants show general excitement to strong stimulation. This is the sign of their :
(1) metacognitive skills

(2) cognitive growth

(3) emotional behaviour

(

4)  socialization

= YaE SE99 F id HEEE Suel foEn § ) 9E 39E CARENGIRA
(1) HE-HTARHS (FHeT HATHYH) e

(2) HIAEF IhE

(3) TEARHF RN

(4)  HHTSIHTO]

Options:-

=1, Option ID :- 189,
« 2, Option ID :- 190,
= 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49
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With respect to adolescents, which one of the following is a correct statement ?

(1) Their spiritual development is more visible than physical development.
(2) Their cognitive development is more visible than physical development.
(3) Their cognitive development is more visible than social development.

(4) Their physical development is more visible than cognitive development.

forail & Hey ¥, frefafea 8§ 9 %9 o %o w98 52

(1) wifar famma w1 o1ien ST st fawm s foar < &
(2) IifeF foerm =i o1han 3eR Hamredes fom eIty foar S #
(3) SR fompme w1 STaT 31 Haree faem stfre fomm <
(4) HawTeHs faer ot eden e Rt famm sifye feard < §1

Options:-

=1, Option ID :- 193,
= 2, Option ID :- 194,
= 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 4, Option ID : -196

Question ID:- 50

In case of adolescents, the inter personal and intra personal growth patterns show their :
(1) cognitive development and social development respectively.

2) moral development and social development respectively.

3) emotional development and moral development respectively.

(
(
(

4) social development and cognitive development respectively.

foreill % aet ©, siq-safeass iR siqu-SAfaas gfg vfawm 37 ! g 2 |
(1) FH: HaHcas faer den |mifss fasme

(2) HEY: Afaw faem qon e faswm

(3) RS ol form qen Afde fasm

(4) SHEY: TSR faem a9 HaEes 9

Options:-

=1, Option ID :- 197,
« 2, Option ID :- 198,
=« 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 1, Option ID : -197

Question ID:- 51
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In language class of adolescent students the teacher uses an English idiom ‘A Leopard can’t change
his spots” which means ‘a person cannot change his/her basic nature’. The teacher thinks that :

(1) Students cannot understand it as adolescence is a stage where only concrete thinking
dominates.

(2) Students may imagine the impossible as they have developed abstract thinking so they can
understand it.

(3) Students may understand it as they can use symbolic thinking to derive its meaning.

(4) Students cannot understand it as their critical thinking proves that in reality the idiom and
it's meaning don’t synchronize.

W@lﬁfﬂﬁwiﬁﬁﬂﬁm@@ﬁ%w‘ALeopardcan’t(‘_hangehisspot’EIFl?ﬁ"T

Fear & fogem a1l & o ‘&g =afaa o1t wot vt 1 7 age T €| s I gre © T

(1) Faeneff 38 =& w0zt and¥ iife forvimresen U s/awen € SR ae gd fawa wae a1 g1

(2) Tonelf ar5ve i FHEU H TR ¥ w0 o oo st & o & safen 3 38 oag ad
gl

(3) faendf e8 wmesr weha € Hifw 3 gua a19d freme o fore weiterress e &1 W T wed €1

(4) Toenedf =7 =72 woe " § Fifw 37 rerams oo = fag = € fr arafawa § geE ot
o S T e 2

Options:-

=1, Option ID :- 201,
= 2, Option ID :- 202,
= 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 52

The term “society’ is rooted in the word “societas” which is a/an :
(1) African word

(2) Chineese word

(3) Greek word

(4) Latin word

‘TS IR 1 SRR W | geN E S UF g
(1) sfpaht veg

(2) = v

(3) ¥t =g

(4) ifed =g

Options:-

=1, Option ID :- 205,
« 2, Option ID :- 206,
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= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 4, Option ID : -208

Question ID:- 53

Who defined the word ‘community” as a group established by men having shared values ?
(1) Comte

(2) Marx
(3) Aristotle
(4) Durkheim

e ‘HeE’ w1eg 1 ' ETEn gl arel safaadl g T Uk 9eE | o &9 H gientug fo 2

Options:-

«1, Option ID :- 209,
= 2, Option ID :- 210,
« 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Question ID:- 54

In the context of socialization, which one of the following is the most appropriately correct
statement ?

(1) In some cultures, secondary socialization may precede primary socialization.
(2)
(3) Secondary socialization takes place only after primary socialization.
(4)

Primary socialization and secondary socialization run parallel to each other.

Primary socialization and secondary socialization follow an entirely different trajectory.

TTsieRtor & Hed H, frefafag # | #1F @ sy gaifes wd 202

(1) T2 SehfaE 1, f5das ammsist, s Srsisor § 98 o 2

(2) e TSR SR s TS s gE % aHERR =ed § |

(3) oo wrrsiien Faer Wit WHISTF % 918 26 ¢ |

(4) e AETsieor i fEdierer Tmrsiero guiaan fu= T s ST i ¢

Options:-

«1, Option ID :- 213,
= 2, Option ID :- 214,
« 3, Option ID :- 215,
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« 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

The adverse situations like COVID-19 pandemic have led to the :
(1) increase in enrolment in formal education.

(2) increase in home schooling;

(3) decrease in enrolment in non-formal education.
(

4) increase in brain drain.

Fhiferg—19 Hemml et yfager frafa & o

(1)  3irg=nfies foen o =mis 4 gfg g8 1

(2) BRCH UgE N (W whian) § gfg g2 )
(3) e faan | amied 6 firee o
(4) gfawn verE § gfs g8

Options:-

=1, Option ID :- 217,
« 2, Option ID :- 218,
= 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Subject : UTL_Q56-Q70_PGTMATH
Question ID:- 56

Why is curriculum important for the teachers ?

(1) Establishes responsibilities and accountability

2) Acts as a control device

3) Develops understanding about preservation of environment

4) Indicates how the external sources should be utilized for the benefits of the students

(
(
(
TISTEAl AT o fu Hecyul i § 2

(1) = foraer oin samecs wenfuq s 21

(2) Tk T U % B9 H S FA B

(3) TATERY % R % IR H e faswiaa w2

(4) I8 SFTq a1 © foh foh WehR ARl &l 1 WART B0 o o o o feman sman =nfem

Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
=« 3, Option ID :- 223,
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= 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57

Which one of the following may not be an important principle of curriculum organisation ?

(1) Principle of child centeredness

I3

Principle of creativity

03

(
(
(4

)
) Principle of self learning
) Principle of flexibility

Frfafed § 9 9 91 grea=ai # w geey g T8 8 2
(1) =iz = fHgr

(2) YSHEH = fHg

(3) Ta-siferm = g

(4) T W fag
Options:-

=1, Option ID :- 225,
= 2, Option ID :- 226,
= 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 4, Option ID : -228

Question ID:- 58

Which one of the following is not an element of experiential learning cycle ?
(1) Concrete experience

(2
(:
(4

Reflective observation

9

)
) Critical analysis
)

Active experimentation

frfafas § 3§ 30 svars SIfam =% &1 U 3 T8 § 7
(1) 98 YE

(2) Tomeis s1aeiea

(3) AT F fergersm

(4) ToRaTeHes A
Options:-

=1, Option ID :- 229,
« 2, Option ID :- 230,
= 3, Option ID :- 231,
= 4, Option ID :- 232,
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Answer Given:- 3, Option ID : -231

Question ID:- 59

Which one of the following may not be accomplished by students through ‘“self assessment’ ?
(1)  Reflection on their own learning

(2) Consolidation of their learning through dialogue

(3) Skills in meta cognition
(

4) Identification of the areas of their strength and of those need improvement

TGN T AeRer’ % wiegn § Fa fouited e feen S v 8 2

(1) =9 & A W AgfEa

(2) AR % HEAE § 370 AT ) Hufed we

(3) UU-HIH (HE-HAHA) § R

(4) 9 WS T AT &5 I TEAH IR 9% & 5 gun #f savasar @

Options:-

=1, Option ID :- 233,
= 2, Option ID :- 234,
« 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Question ID:- 60

Which one of the following is not an advantage of using textbook in classroom teaching learning
process ?

(1) A useful teaching aid in the hands of a teachers

(2) Encourages convergent thinking among learners through its chapters and exercises
(3) Provides guidelines for students evaluation
(4)

4) Help teachers to maintain logical reference of content matter

Toregor—sifermy gferan § e § U3 1 TEN I ] HA TH A9 Tal @ 2

(1) SA=ASH & FY H TH NG U0 Heweh dl

(2) T % TR S FE -1 % A | stfrmeRiel § s foaw i agEn S §
(3) I o HeHishd o ferg ARi-fee wer et @

(4) A=Y o fawHEs] @ difcheh ohH ohl AT T@ H HERIT Sl &

2

Options:-

=1, Option ID :- 237,
= 2, Option ID :- 238,
« 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 2, Option ID : -238
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Question ID:- 61

Which one of the following may not be considered as a main characteristic of multimedia system?
(1) Social loafing

(2) Can be used as an interactive device

(3) Requires judiciously planned usage

(4) Sharpens skills in problem solving and decision making areas

frafafeas § 4 frd oo difem yorelt =t v ge fawmaa =& 91 <1 aar g 2
(1) g gozeard

(2) =8 U IREEn TR S % w9 § ST R S g §

(3) =T 9Aw % fore faderyol dren oAE #1 eeavear gl §

(4) FEEn-guyE AR ol &7 9 &5 e # 3 5

2

Options:-

=1, Option ID :- 241,
= 2, Option ID :- 242,
« 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62

Which of the following is an incorrect statement ?
(1) Extended response type item is an essay type item.
) In multiple choice item the incorrect option are known as distracters.

2
3) Objective type of item are more preferable in measuring the creative ability of students.
4) Matching type of item is a form of multiple choice type.

(
(
(
fr=fafad § 4 &9 W %97 8t 781 § 2

(1) fonfa wfofwrars g o e g9 & 2
(2) wg-Tasredl yed | e foshedl & e | T J1e HJE S @

(3) TS WA I BT AT GoHIHF AT T WY B THE SF < 40 9§
(4) oM #2991 Y99 Sgfashedt YR & Yo o TE €9

Options:-

=1, Option ID :- 245,

« 2, Option ID :- 246,

=« 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 2, Option ID : -246

Question ID:- 63
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Which of the following is not a difficulty associated with group learning ?

(1)  Absence systematic approach to work

(2) Easy identification and correction of errors

(3) Lack of adequate coordination among participants
(,

4)  Pressures on individual learners to conform on the issue having discussed in the group

Freafafed & 9 =0 ggg afrm 4 96t o #iomE 76 22

(1) e 9fd =i 3urm i Agfef

(2) TIAfTE ST YEE SR 39Y gUR

(3) WiAwIfi % <= waTd e W A

(4) HHE H = fRu S 9wt fawg & 196y sfamm starmeaie 1 geE

Options:-

«1, Option ID :- 249,
= 2, Option ID :- 250,
= 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 4, Option ID : -252

Question ID:- 64

Which one is not a role of the teachers in construction of knowledge of students ?

(1) Allowing students to ask questions and encouraging them to raise intelligent questions
(2) Discouraging self analysis and self assessment

(3) Fostering reflective practice

(4) Supporting cooperative and collaborative learning in the classroom

fonenfefai 3 s Faafor & steamss it yftsrr 9 o =1 2 2

(1) B =l 999 IS i AFAM 971 AR 3% Flgaayol 991 I8 = forg giefed e
(2) TE-faver iR w-fuRo %1 gdemfed e
(3) Tomsiss foan 1 Wreifed e

(4) Rl H HEHEI 91 Fedri HARATH ] HeFdl A
Options:-

«1, Option ID :- 253,

= 2, Option ID :- 254,

= 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 2, Option ID : -254

Question ID:- 65
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"Learner centered approach’ is not characterized by :

1) Learning by doing
2

(

(2) Both individual and group learning

(3) Learning and memorization of textual questions
(4) Democratic classroom environments

‘ saferaeRl SRfd SavT’ = U favea el ©

) TR HIEA

2) AfFA IR WYE, S YHR 1 A
) oS fawge gl # LAfirr aur 3% ey A
) TR I AR ATAE

Options:-

=1, Option ID :- 257,
« 2, Option ID :- 258,
= 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

Question ID:- 66

In a teaching learning situation four stages are being followed :

1.  Identification of problems
2.  Experimentation and observation
3.  Problem solving

4.  Evaluation

Which of the following method is being applied ?
(1) Project Method

(2) Problem solving Method

(3) Discovery Method

(4) Inductive Method
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e forero-sifirmm feafa & =m =2l &1 oo fFrar s @ &

1.  HEEN &I 9gEH

2. e SR STEERA

3. TES 9EEE

4.  HEARA

frafafaa § § #F o fafa sres st €2
(1) ufErsH fafy

AT fafe

Options:-

«1, Option ID :- 261,
= 2, Option ID :- 262,
« 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 1, Option ID : -261

Question ID:- 67

Which of the following is not a strength of portfolio ?

(1) Development of skill among students in evaluating the strength and weakness of their own
work

(2) Creates opportunity to collaborate and reflect on students progress.

(3) Parents have rare opportunity to assess the performance of their children .

(4) Helps students to take responsibility for setting goals and evaluating their progress

oL~ N

frafafas § 4 =9 SewifeE & TF vee 98 T8 8 2

(1) =W H 99 HH F a6 98T T FHSE H1 Godiha HL & Hie H1 faw

(2) HRWITET ST o1 STTE YT AT 91 B ! FIfd W A

(3) TRl I 31U T % USYH T SHEH F H dgd HH AR fyerar

(4) D 9 weg i s qur st a1 geie e H faert on | gera Fa e

2

Options:-

=1, Option ID :- 265,
= 2, Option ID :- 266,
« 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68
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(1) Co-learner
(2) Facilitator
(3) Specialist

(4) Generalist

(1) we-wfermew

(2) HIETR

(3) fordmg

(4) WA (SAOfeR2)
Options:-

=1, Option ID :- 269,
= 2, Option ID :- 270,
=« 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 1, Option ID : -269

Role of teacher in ‘trans disciplinary integration” is that of a :

Ealy

GET IT ON
Google Play

Question ID:- 69

(1)  Skill of the teacher’s

(2
(3) Content being discussed
(

(1) SEATH HT R
2) T999 W FA=AYE H AUFHR

4

Options:-

=1, Option ID :- 273,
= 2, Option ID :- 274,
=« 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 4, Option ID : -276

) Teacher’'s mastery our the topic

4)  Unity of purpose and interest in the class

Ush STo1 el =41 1 ga a3 g = ?

(2)
3) faw-owg e waai # @ ®
(4) TS 1 U S e H i

What should be the basic determinant of a good classroom discussion ?

Question ID:- 70
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Objectives of education are not helpful in :

(1) Understanding child development
(2) Selecting instructional materials
(3) Designing learning experience

(4) Preparing evaluation tools

e & 329w AIEF TRl e B
(1) =ere %1 faem gaer 8
2)  SIISVHS HHUl HT =IA FA H

(

(3) R SFYE w THE@ TR wA H

(4) TEHHRA STH TR FHA |
Options:-

=1, Option ID :- 277,
« 2, Option ID :- 278,
=« 3, Option ID :- 279,

« 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

GET IT ON
Google Play

Subject : CCLE SOL PE_Q71-Q80_PGTMATH

Question ID:- 71

(I) Yogasana and Pranayam

(2) Physiotheraphy

(3) Mathematical and mental exercises
(4) Organizing social gatherings

(1)  FFTEA SIR 9o

(2) Torfsed

(3) TIfordE iR "EfaE snam

(4) FmIRSTER FHIS W ST Y
Options:-

=1, Option ID :- 281,
« 2, Option ID :- 282,
=« 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 1, Option ID : -281

In modern context the best mental health of students and teachers can be ensured by :

sy gesl H forenfeli ofR sremyel @1 9 umfas @ feg & g gifvea e s g 82

Question ID:- 72
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The right of persons with disability Act came in which year ?

(1) 2014
(2) 2016
(3) 2018
(4) 2020

ge A% wHY fag fegufafed v forg ad 4 &1 2

(1) 2014
(2) 2016
(3) 2018
(4) 2020
Options:-

=1, Option ID :- 285,
= 2, Option ID :- 286,
=« 3, Option ID :- 287,

« 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

In terms of education progress which one of the following groups is the largest ?
(1) Tribals

(2) Schedule castes

(3) Slum dwellers

(4) Girls

(R

i F gl A i 4 - IR Teg a1 82

(1)  efeart

(2) ST S
(3) g A et
(4) ferpTd
Options:-

=1, Option ID :- 289,
= 2, Option ID :- 290,
=« 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74
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Which one of the following can be easily handled by school teachers ?
(1) Autistic child

2) A child with an IQ of 72

3) A child with dyscalculia

4) A psychotic child

(
(
(

= o | AT U, fierr g7 ST A Garen S Hehdr § 2
(1) TF el el

(2) UH729fs @l s (IQ) AT AAh

(3) Teu Hegpfaa aren & T

(4) Uk TR ATl =eth

Options:-

«1, Option ID :- 293,
= 2, Option ID :- 294,
« 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

2

Question ID:- 75

Among the following options, which one is easier for a school seeking partnership ?

(1) Neighboring schools

(2) Industry
(3) Parents and community
(4) Adjoining government offices

TSR] o S99 U kel &g 791 H | -1 U faskey 31HH § 2

(1) W wFe

(2) FEm

(3) sIf9vEE TE e

(4) Trreadl W& SEEa
Options:-

=1, Option ID :- 297,
= 2, Option ID :- 298,
=« 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76
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Higher education institutions can develop the best partnership with schools by
(1) training school teachers.

(2) organizing competency based activities for school teachers.
(3) sharing their physical and human resources.
(

4) selecting best students from schools and giving them advanced learning material.

o3 foren orm, hell & 19 gd oS wwieRT S 1 U9 € 2

(1) THelt TegeH &1 g S

(2) Tl A 'q gaa emenf nfafafiar smhfsa wE

(3) o9 “iifier iR AMfaF HHHE TR F5h

(4) Tpa g A et = siew, 3= 310 srfermy 9ol S

Options:-

=1, Option ID :- 301,
« 2, Option ID :- 302,
=« 3, Option ID :- 303,

« 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77

Which one of the following can best develop the spirit of enquiry and awareness among learners at
secondary school level ?

(1) Parent teacher associations
(2) In service programmes for teachers
(3) Hobby clubs
(4)

4) Long duration science experiments

e Thel W W SifErmEeEdiel H URU=s] Ud SFeeshdl &l Wil 93 &g T H ¥ B 19 € 2
(1) sfquras e afafet

Al ey o o o 9En

Options:-

=1, Option ID :- 305,
= 2, Option ID :- 306,
=« 3, Option ID :- 307,

=« 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78
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i)
"

(
(
i)
(
(

e

V)
v

—
S

&“-—F’B‘-—-’

e
I

Which one of the following combination can best fulfill the objectives of conducting school assembly?

Punishing naughty students

Everyday reading some part of a classic book
Physical Fitness exercises

Sharing decisions of PTA meetings
Addressing general issues of the school

(i), (ifi) and (V)
(1), (iii) and (v)
(i), (ii) and (iii)
(

ii), (iii) and (iv)

YTd: F91 % A & I=9dl &1 gfd § 1 ° 9 - fawey gag= g ?

(i) TR Bl gfed HwE

(i) ToE T e W (i) YR & FH F9 qgT
(iii) I =AW

(iv) sfyurass foiares sl & ol T e

(v) el % HEFE el 9 S

(1) (i), (iii) TR (v)

@ () (@) R ()

(3) (1), (i) R (i)

(4) (i), (i) SR (iv)

Options:-

=1, Option ID :- 309,
» 2, Option ID :- 310,
= 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 1, Option ID : -309

(1)
(2)
(3)
(4)

Question ID:- 79

Which Committee talked of education for humane and enlightened society ?

Raghu Rajan Committee
Acharya Ram Murti Committee
Yashpal Commitee

Acharya Narendra Dev Committee
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THEE 3R Wgg 999 & fog fen =t =ra form wfafa 5 & 2

(1) TIUSH HH2

(2) sr=EE T G FH

(3) FIUE HHL

(4) IEE AR <F wH
Options:-

=1, Option ID :- 313,
= 2, Option ID :- 314,
=« 3, Option ID :- 315,

= 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80

Which one of the following does not belong to knowledge domain ?
(1) Respecting

(2) Analysing
(3) Evaluating
(4) Informing
=1 5 9 i T T & 9 Heife e € ?
(1) 3T &7
(2) fagewor w5
(3) HeHih HLAT
(4) FFT
Options:-

=1, Option ID :- 317,
« 2, Option ID :- 318,
= 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- 4, Option ID : -320

Subject : MATHS_Q81-Q180_PGTMATH
Question ID:- 81

A={1, 2, 3, 4, 5} and the relation R is given by R={(x, y) : x +y=8, xe A, ye A} then the set of
ordered pairs in R are :

1) {49, (.4), 6 5)

2 {44, @ 5), 65, 3), 6, 5)
3) G 3), @ 4, 4 5), 5 3), 6.4, 6 5)
(4 (@ 5), 6 9)
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o o W= A =11, 2,3, 4, 5} 3% GeY R e mn d
R={(x, y) : x+y=8, xeA, yeA}
@ R % shia i o1 9= B

(1) {4 5), (5 4). (5 5))

(2) {44, 4 5) 5 3), 6 5)

(3) {3, 3), @ 4), (4, 5), (5 3), (5 4), (5 )}
4 {(%5), (5 4)

Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
=« 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

> 4+ 22+ 1

The domain of the function f given by f(x) = % R— is :
(1 R—~{-2.35}

(&) RB={=32 =3

(3) R—{-3 2}

(4) R-—{2, 3}

F(x) = ’;Zti‘j ~ 3 o weE £ 9 R

(1y R={=2,3]

(2) R_{_Br _2]

3 R—{—=8& 2]

(4) R-—{2, 3}
Options:-

«1, Option ID :- 325,
= 2, Option ID :- 326,
=« 3, Option ID :- 327,

« 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325

Question ID:- 83

A relation R is defined from N — N as R={(a,b):a = b,ae Nand beN}. ThenR is:
(1) an equivalence relation.

) reflecxive and symmetric but not transitive.

reflecxive, neither symmetric nor transitive.

x._.v

(2
(3
(

4) reflecxive and transitive but not symmetric.
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Tay R N — N H aftwfud fFan 71 2 R={(a,b):a = b,ae N 3{Rb eN} d R :
(1) goga Gay g

(2) *Eqed IR FHMAG § 9L Hebtdeh el ¢ |

(3) TG ¥, UL A ol GHIHA ¥ IR A & Hehmm ¥ |

(4) TEqed SR HEmE § Uy wAfhd 7E 2

Options:-

=1, Option ID :- 329,
« 2, Option ID :- 330,
=« 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330

Question ID:- 84

Two sets A and B contains 4 and 5 elements respectively. Number of one - one and onto mapping
from A to B is/are :

(1) 120
(2) 24
(3) 20
(4) 0

T T A S B H wHw: 4 315 99a €1 A Y B F Thah! AR sweE Bfun # gem T

(1) 120
(2) 24
(3) 20
(4 0
Options:-

=1, Option ID :- 333,
« 2, Option ID :- 334,
=« 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 3, Option ID : -335

Question ID:- 85

Let n (U)=30,n (A")=15,n (B)=5and n (A N B)=3, thenn (A w B) is :
(1) 12

(2) 25
(3) 17
(4) 20
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Ife n (U)=30,n (A")=15,n (B)=5 3 n (A N B)=3, 8, Tl n (A U B) B :

(1) 12
(2) 25
3) 17
4) 20
Options:-

«1, Option ID :- 337,
= 2, Option ID :- 338,
= 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339

Question ID:- 86

In a survey of two 400 students of a school, it was found that 100 like to drink coffee, 150 like to
drink tea and 75 like both coffee as well as tea. Find how many students neither likes to drink
coffee nor tea ?

(1) 175
(2) 150
(3) 250
(4) 225

e faenerg § 400 faenfei & adem & = 7= f 100 #1949 798§, 150 19 T EE & a9
75 R I S =1 ST & 95 © 1 71d shitee s foras ferenfelai &1 9 a s uhe € i 8 =94 ?

(1) 175
(2) 150
(3) 250
(4) 225
Options:-

=1, Option ID :- 341,
= 2, Option ID :- 342,
« 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87
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A ladder makes an angle of 60° with the ground when placed against a wall. If the foot of the
ladder is 2Zm away from the wall, the length of the ladder is :

(1) 43 m
4

2 B

(3) 242 m

(4) 4m

T HiEl ol SO’ & WY W@ T 88 60° 3l 10 a1 ¢ | Ffg Tl 61 I SaR H 2 m &1 g W E, o e
i T 2

() 43 m
4

2 B™

(3) 242 m

(4) 4m

Options:-

=1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

=« 4, Option ID :- 348,
Answer Given:- 2, Option ID : -346

Question ID:- 88

Solution of the I:rig(}nometric equaﬁon 5 cos2xr+7 sin2x—6=0is :

(1) nm+ }
() nm—
4

T

3 3

=
o
3
-+
W= | 3
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T T 5 cos2y + 7 sin2x— 6 =0 I BA & :

™
I nwT + —
(1) nm+

Options:-

=1, Option ID :- 349,
« 2, Option ID :- 350,
« 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350

Question ID:- 89

The minimum value of 2«/’5 cosx +4sinx + 7 is:

[y ~2
@ -1
3) 1
(4 2

2.5 cosx + 4sinx +7E|-T[?f|?|‘qt[[ﬁ%:

(1) -7
(2) -7
@) 1
(4) 2
Options:-

=1, Option ID :- 353,
= 2, Option ID :- 354,
= 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356

Question ID:- 90
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3

:—

(3]

If a complex number z satisfies the condition =1, then it will lie on :

]

(1) x-axis

(2)  y-axis

(3) circle 12 +_if3=l

(4) line x+y=I

: | + ; 5 -

afe s Wiy den, 2 v |: _i =1 =l §qw= Xt &, @ =9 frq 2
(1) -394 T

(2) y-39 T

3 FW2+yP=1W

(4 Wix+y=1W
Options:-

=1, Option ID :- 357,
= 2, Option ID :- 358,
« 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 3, Option ID : -359

Question ID:- 91

The multiplicative inverse of 3 +2 i is :

3 2,
B o= e i
(D 13 13
@ to
13 13
, 32,
(3 13 13
g _3_2,
(4) 13 13
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3 +2 i & TUCHE Wi # ¢
3 2

__+_

() 13 13"
3 . 2.
- A=

@ 371

o 32

® 137 13

g -2 2.

(4) 13 13

Options:-

=1, Option ID :- 361,
= 2, Option ID :- 362,
= 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 3, Option ID : -363

Question ID:- 92

) . . 34+ 2isinf )
The real value of 8 for which the expression —————— is a real number is :
1—21i sin0
) nw—T
(1) -
(2) 2nmw

m
3 + —
(L) nT 5

4) nmw
3+ 2 sinf .
g 1 ardtas OF e folt ————— & aidfas @ e, §
1—21i sinB
(1) aw-=
2
(2) 2nw

™
3 nmT+ —
G) nmr3

(4) nm

Options:-

=1, Option ID :- 365,
« 2, Option ID :- 366,
= 3, Option ID :- 367,

« 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365
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Question ID:- 93

I | 1 )
If sin[sm ! 1 + cos 1-1'} =1, then the value of x is :

W 5
@ 5
® 5
C

1
1 5
@ 3
1
3 3
C
Options:-

=1, Option ID :- 369,
= 2, Option ID :- 370,
=« 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94

=i = 2 ; -
If tan” "x +tan” ¥ = — then cot ™ x +cot "y is :

5 4
: o
i 3
2_11-
@ =
3
e =
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-1 = 27 o | -
gfg tan x +tan” y = 5 g, dl cot " r+cot™ly @ :

By X
1 3

2_11-

@

3

3 =
(4)
Options:-

«1, Option ID :- 373,
= 2, Option ID :- 374,
=« 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95

If the system of linear equations :

x+y+kz=4
x—2y+2z=3
Ix+y—z=>

are inconsistent , then the value of k is :
(1) -1

(2) 1

(3) 0

(4 2

fas gt @ e
x+y+kz=4
x—2y+2z=3
3x+y—z=

STET 2, AfE k o 9H
() -1

(2) 1

3 0

(4 2

Options:-

=1, Option ID :- 377,
= 2, Option ID :- 378,
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= 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 2, Option ID : -378

Question ID:- 96

52 53 54
The value of determinant |5° 5% 5°|is:
54 5% 56
(1) 52
(2) 0
(3) 5'13
(4) 5°
52 5° 5%
AR [5° 5% 5P|w R
54 5% 5
[f) 5
(2) 0
(3) 513
(4) 57
Options:-

=1, Option ID :- 381,
= 2, Option ID :- 382,
« 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97

A matrix A = {: —Bon} is such that A2=1, then :
(1) 14+ a2+ By=0
(2) 1-c?+py=0
(3) 1—a?—py=0
(4) 1+a?—py=0
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T SR A = K _BJ ¥H YR T A2=1%, d :
(1) 1+a2+By=0

(2) 1-o2+By=0

() 1—p*—py=0

(4 1+a®—By=0

Options:-

=1, Option ID :- 385,
= 2, Option ID :- 386,
= 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 2, Option ID : -386

Question ID:- 98

Which of the following quadratic equations has two distinct real roots ?

(1) 2x2+3\5x+%={)

(2) x%2+x-5=0
3) 22 +3x+242=0

(4) 22 —Bx+1=0

Forerferfian § @, for faem Qe % & Fort e el &2

(1) 2x2+3ﬁx+%=0

(2) x2+x-5=0
3) 22 +3x+242=0
4 2¢* —Br+1=0

Options:-

=1, Option ID :- 389,
« 2, Option ID :- 390,
« 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389

Question ID:- 99
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The equation of the straight line passing through the point (3, 2) and perpendicular to the line y=x
will be :

(1) x+y=1
(2) a=—y=1
(3) xr-y=5
(9 =x+y=5

IH T @1 H HIEH S TR fag (3, 2) 8 oA § 3R W@ y=x &% oaed &, 8 ¢

(1) x+y=1
(2) a—y=1
(3) x—y=5
(4) x+y=>5
Options:-

=1, Option ID :- 393,
« 2, Option ID :- 394,
= 3, Option ID :- 395,

= 4, Option ID :- 396,
Answer Given:- 3, Option ID : -395

Question ID:- 100

The point (4, 1) undergoes the following two successive transformations :
(i) Reflection about the line y=x

(ii) Translation through a distance 2 units along the positive x-axis.
Final coordinate of the point will be :

o (53

(2 6.9
(3) &3
4 @49

faig (4, 1), f=1 & HPq TN G TR ©
(1) T@Ty=xa?ﬂrel&”|’{l§'ﬁﬂ
(i) HFICHF x-318 T Sl THR g T

feig % sifem s & -
- 2 F
W (%3)
(2) (3, 4)
4.3

-

=
N

(
3
(1,
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Options:-
=1, Option ID :- 397,

= 2, Option ID :- 398,
= 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 1, Option ID : -397

Question ID:- 101

Equation of the circle with centre on y-axis and passing through the origin and the point (2, 3) is :
(1) 3x2+3y%>—13y=0
(2) 3x2+3y>+13y=0
(3) 6x2+6y>—13y=0
(4) 6x2+6y>+13y=0

7 1 TR e 2 foig y-31 W 8 9o 98 w feig ofr fig (2,3) & TeRaT ®
(1) 3x2+3y2—13y=0

(2) 3x2+3y2+13y=0
(3) 6x%+6y>—13y=0
(4)  6x%+6y>+13y=0
Options:-

=1, Option ID :- 401,

= 2, Option ID :- 402,

« 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

If |x—=2|> 6, then :
(1) xe(—4,8)

() xe(—%, —4)uU (8, =)
3) xe(—%, —4] U [8. =)
(4) xe[—4, 8]

7fg |x—2|>6% @ :

Options:-
=1, Option ID :- 405,
« 2, Option ID :- 406,
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= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 1, Option ID : -405

Question ID:- 103

A solution is to be kept between 50° C and 55° C. What is the range of temperature in degree

fahrenheit, if the conversion formula is F = g C+ 3272

(1) Between 122°F and 131°F
(2) Between 120°F and 131°F
(3) Between 124°F and 140°F
(4) Between 122°F and 135°F

s fae=@ & 50° C R 55° C o 799 W1 & | H Hege I9H W faegq & a1 9w Ja Fifsm,
St TREdT 93 F = §c+ 32 &2

(1)  122°F @1 131°F & &=
(2) 120°F @91 131°F & &=
(3) 124°F @ 140°F & <=
(4) 122°F 91 135°F = &=

Options:-

=1, Option ID :- 409,
= 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 1, Option ID : -409

Question ID:- 104

Three balls are drawn from a bag containing three red, five white and two yellow balls. The
number of ways in which this can be done, if at least two are red is :

(1) 44
(2) 120
3) 21
(4) 22

T St | T o, 9T Hine 2R g1 diedt g ¥ 1399 9 i e fAeed 7 1 afe w9 8 e < ar fie e
TE ®, o 5 oo 7R 9§ o8 forn < el €, 98 ®

(1) 44

2

(
¢
(

;_p

)
y 21
4)
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Options:-

=1, Option ID :- 413,
= 2, Option ID :- 414,
« 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 3, Option ID : -415

Question ID:- 105

The number of ways in which a team of 11 players can be selected from 20 players always including
one of them and excluding three of them is :

(1) 'Cy
(2 '°Cy
(3) 19Cy
4 2C,

o 1 el A SR 2
(1) MCy
(3 '°Cyg
4 ¢y,
Options:-

«1, Option ID :- 417,
« 2, Option ID :- 418,
= 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

The number of different four digit numbers that can be formed with the digits 3, 4, 6 and 8 and
using each digit only once is :

(1) 24
(2) 100
(3) 80
4) 96
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i 3,4, 6 RS F YA ¥ foraet 9r =i gl fu= dend 579 gt €, 99 udis ois =1 v Fad
T 9 T

(1) 24
(2) 100
(3) 80
(4) 96

Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 3, Option ID : -423

Question ID:- 107

1100
011 0
If matrix A = , then Rank of the matrix (A—1) is:
0 01 0
00 0 2]
(1) 4
2 2
(8) B
4 1
1 1 0 0]
0110
TEATA=| @ T 8 1 SR (A-T) R HIfE R
00 0 2
(1) 4
2) 2
(3) 3
(4 1
Options:-

=1, Option ID :- 425,
= 2, Option ID :- 426,
=« 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 1, Option ID : -425

Question ID:- 108
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=1, Option ID :- 429,
« 2, Option ID :- 430,
=« 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 2, Option ID : -430

2 -5 b5

If matrix A= |0 3 —1|, then eigen value of the matrix A is:
0 -1 3

(1) {2}

(2) ({1, 4

(3) {2, 4

(4) {1, 2)
2 -5 5

afg sgg A=|0 3 ~—1|%, ol 3= A FH (eigen) TH €
0 -1 3

(L) {2}

(2) {14

(3) {2 4}

(4) (1,2

Options:-

GET IT ON
Google Play

Question ID:- 109

TH =18 1
The characteristic polynomial of matrix A= |-1 1 —1|is:
1 -1 1

(1) —A3+2)\2
(2) A3-3a?
(3) AP—3AZ+4A
(4) A?+3A2
1 -1 1
aegg A= |-1 1 —1| % stfyensfins sgue § :
1 -1 1
(1) —A3+2a2
(2) A3—3x2
(3)  AZ—3A2+4\
(4)  A3+3)2
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Options:-
=1, Option ID :- 433,

« 2, Option ID :- 434,
« 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110

If Ef'; x;=3100, Ef;- (27— E)z = 10050 and n=>50, then the variance is :

(1) 62

(2) 101
(3) 175
(4) 201

A e 7 & 6 3f, x,=3100, 3£ (x; — T)* = 10050 HXn=50 8| q TE & :

(1) 62
(2) 101
(3) 175
(4) 201

Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
« 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- 3, Option ID : -439

Question ID:- 111

In a class test in mathematics, 7 students obtained 10, 45, 35, 43, 25, 46, 15 marks. The mean
deviation from the median is :

(1) 122
2 11
(3) 12
(4) 11.6

T IO ke wian H 7 famnfeE | 10, 45, 35, 43, 25, 46, 15 iF W foRu | wiftaEs & Ams e
ﬁﬁ?ﬂ%:

(1) 12.2
2) 11
(3) 12
(4) 11.6

Options:-
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=1, Option ID :- 441,

= 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 1, Option ID : -441

Question ID:- 112

The sum of two non-zero numbers is 6. The minimum value of sum of their reciprocals is :

)
o =
— 3
@ =
2
(3 3
2
4 3

31 YT HEATS] AN 6 7 | 39k SRl & gAaH °H §

— 2
b 5
-3
S
2
3 3
2
4 5
Options:-

«1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 4, Option ID : -448

Question ID:- 113

'rr
The equation of tangent to the curve y=x+sin x.cos x at ¥ = 5 is :

(1) y=m

(2) y+m=0
3) 2y=m
(4) y=2
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™ o
EFﬁy=x+sinx.c05x3£i X = 5 Y Fq9l @l HE ©

() y=m

(2) y+m=0

(3) 2y=m

(49 y=2
Options:-

=1, Option ID :- 449,
= 2, Option ID :- 450,
=« 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Question ID:- 114

" . o ; cm 5 T -
the diameter of a circle is increasing at the rate of 1 — . When its radius is m, the rate of increase

5

2
of its areas [in S ] is:

S
(1) =2
(2) 2m2
(3)
(4) 2w

e Gl ol e e S I 5 B = o e O B e | R M 22 ™ e e 0 e A D

)

S

4) 2

Options:-

«1, Option ID :- 453,
= 2, Option ID :- 454,
« 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 1, Option ID : -453

Question ID:- 115
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The approximate value of (33)1/2is :

(1) 2.02
(2) 2.015
(3) 2.1>
(4) 2.0125
(33)1/5 =1 wfTehe WM
(1) 2.02
(2) 2.015
3) 2.15
(4) 2.0125
Options:-

«1, Option ID :- 457,
= 2, Option ID :- 458,
« 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 4, Option ID : -460

Question ID:- 116

291 _1 n e N is divisible by :

(1) 8
2) 7
(3) 9
4) 6

23 _1 e N, faufed e 2 -

() 8
2 7
(3 9
4) 6
Options:-

«1, Option ID :- 461,
= 2, Option ID :- 462,
« 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 2, Option ID : -462

Question ID:- 117
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Seema has two coins which appear identical in her purse. She knows that one is fair and other is
two headed. She taken out one, toss it and gets a head. The probability that coin was fair is :

o1
D 2
1
@
2
® 3
3
S

g o € faer , sifer v A waer e €18 Ao B fF, T vl S el g S ol fea & 19
s faes 1 Free i Sorerd § ol foaa ara et @ 1 i g fogs ot o, #

1

(1) 3
1

2 =
(2) -
2

@ 3
3

4 =
(4) "
Options:-

«1, Option ID :- 465,
= 2, Option ID :- 466,
= 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

If the probability that a person is not a swimmer is (.3, then the probability that out of 5 persons,
4 are swimmer is :

(1) 5(3 (7) (3)4
(2) *(7)
(3)

(4)
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Ife we =Afa & AU 7 2 1 witaedr 0.3 ], A 5 = ¥ 9 4 % U 2 5 Wit §
(1) °C (7) (3

@ G (3)* (7
(3 (D*(3)
@) °Ci(N*(3)
Options:-

=1, Option ID :- 469,
« 2, Option ID :- 470,
= 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Question ID:- 119

A and B are two events such that P(A)=0.25 and P(B)=0.50. The probability of both happening
together is 0.14. The probability that both A and B are not happening is :

(1) .61
2 .75
(3) .39
4) .86

A R B T2A 39 YR € o P(A)=0.25 3R P(B)=0.50 | SH % TH WY BH = Wiawd 0.14 ¥
yifresan fo, 1 A SiRBA B W E, § -

(1) .61
(2) .75
(3) .39
(4) .86

Options:-

=1, Option ID :- 473,
= 2, Option ID :- 474,
= 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120
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The value of tan ! [ﬁj is :

1 —sinx

n =

v 3

gy L&

(2) i

3 E+£

(3) =

4y T *
( 4 2

1—sinx
m 3
® I3
o 343
o Te3
Options:-

=1, Option ID :- 477,
« 2, Option ID :- 478,
=« 3, Option ID :- 479,

=« 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Question ID:- 121

— — —
C

— — . — — )
If a, b and ¢ are unit vectors such that g + b + = (0, then the value of

- — — — - =
a.b+b.c+ c.ais:
() 1

o

@ 3

o 3

@3 ~3
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Afs A AR a, b AR ¢ WS 2 4 b 4 o = 0 F U= B E, A
%

e

_)
d

(1) 1
3
2 3
3
3 —3
(4) O
Options:-

=1, Option ID :- 481,
= 2, Option ID :- 482,
« 3, Option ID :- 483,

« 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481

- =
.b+Db.

GET IT ON
Google Play

ﬁ
C

- -
(& da

+

Question ID:- 122

- =
The position vector of the point which divides the join of points 4 a + b and
in the ratio 2 : 3 i1s ;

=1, Option ID :- 485,
= 2, Option ID :- 486,

—

_}
a —2 b externally

(1) 1(142—5’)

(2) 1(11:—43)
5

(3) 5a %8B

9 102 +7b

figell 4 @ + b R a —2 b ) foemy =reh Ta 1 2: 3 % orum § are fafem F0 a fig 1

fefg afew 2 -

(1) 1(14:—_};)

(2) 1(112—45’)
5

(3) 5a +8b

4 10a+7b

Options:-
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« 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 2, Option ID : -486

Question ID:- 123

. . —3 ,\ x\ A —¥ s N mneo
The projectionof AB = { —2j + 4konCD=—{ +2j+2kis:

_—
Jesiny
S

—_—
23 NI
N

—
s
B

— A A A — A A A 3
AB=i—-2]+ 4k CD=—i +2 +2k WY & :

14
(o 5
(2) 1
(3) 4

5
4 3
Options:-

«1, Option ID :- 489,
= 2, Option ID :- 490,
« 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491

Question ID:- 124

A A A A (/\ f\) A A A
Thevalueof:’x(j+ k)+j>< k+ i +k><(:' + j)isequalto:

2T +5 4+ 7)
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Px (e M) ixGa Derx(G+ ) mme

(1) 2(? v+ /I;)
2) 0
3 1

s a 4
4 i+j+k
Options:-
=1, Option ID :- 493,
« 2, Option ID :- 494,

=« 3, Option ID :- 495,

« 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125

12
) 1
If the r't? term in the expansion of (2.1‘2 — —) is without x, then r is :
X

1)

2
S

)
e
(T - N |

(
(
(
(4)

1 12 . !
Eﬂ%{[lxz——) FUORH rd R H xR E T

X
(I 2
(2) 8
3) 9
(4) 10
Options:-

=1, Option ID :- 497,
= 2, Option ID :- 498,
« 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498

Question ID:- 126
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If the coefficients of (r—1)%, r" and (r+ 1)t terms in the expansion of (x+ 1)" are in the ratio
‘:I?

1:3:5, then value of nis:
(1) 8
(2) 4
(3) 3
(4 7

e (x+1)"F TERH (r—1) a1, r a1 SR (r+1) A T& 6 [NH 1:3:5F T HE, A nFHAR :

(1) 8
(2 4
@) 3
(4) 7
Options:-

=1, Option ID :- 501,
= 2, Option ID :- 502,
= 3, Option ID :- 503,

« 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127

The coefficients of 2™ in the expansion of (1+x)*" and (1+x)** ! are in the ratio :

(1) 1:2

2) 2:1

(3 3:1

(4 1:3

(1+x)2" 3R (1+x)2—1 % JHR H ¥ % TOehi 1 I 2l
(1) 1:2

(2) 2:1

3 3:1

(4) 1:3

Options:-

=1, Option ID :- 505,
= 2, Option ID :- 506,
=« 3, Option ID :- 507,

= 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128
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The first and last terms of an AP are 1 and 11. If the sum of the terms is 48, then the number of
terms are :

(1) 9
(2 7
(3) 8
(4) 6

T AP 1 999 iR ifqn ug 1 2R 11 1 3fg uei = 9 48 ®, 1 Ui 1 W #
() 9

(2 7

(3) 8

(4) 6
Options:-

=1, Option ID :- 509,
= 2, Option ID :- 510,
=« 3, Option ID :- 511,

= 4, Option ID :- 512,
Answer Given:- 2, Option ID : -510

Question ID:- 129

If second term of a G.P. is 2 and the sum of its infinite terms is 8, then the first term is :

i
ST
(2) 2
a1
3 3
(4) 4

Tfg Tk G.P. %1 THU UE 2 991 SHh 29fifad e 1 4w 8 %, o Teel 9E © :

1
M 3
(2) 2

=
®) 3
(4) 4
Options:-

=1, Option ID :- 513,
= 2, Option ID :- 514,
= 3, Option ID :- 515,
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« 4, Option ID :- 516,
Answer Given:- 3, Option ID : -515

Question ID:- 130

Let S, denote the sum of first n elements of and an AP. IfS, =35, then S, :S, is equal to :
(1) 4

(2) 6
(3) 8
4) 10

HH SIS o S, A.P. %l 9&H9 n sagal =1 901 e o 8138 S,, =35, 8, @S, : S, T T :

(1) 4
(2) 6
(3) 8
(4) 10
Options:-

=1, Option ID :- 517,
« 2, Option ID :- 518,
= 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

If a, 4, bare in AP and a, 2, b are in GP, then a, 1, b are in :

(1) AP
(2) GP
(3) HP
(4) neither AP nor HP

qfc 2,4, b, APHE 31Wa,2, bGP, HE @a,1,be:

(1) AP

(2) GP

(3) HP

(4) AT AP SR T & HP
Options:-

=1, Option ID :- 521,
= 2, Option ID :- 522,
« 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132
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If z; and z, are two complex numbers, then which one of the following is not true ?

W) 2. 2] =212,

(2 |z+zp|=|z| + 2]

(3) |z;—2z|=|z;|—|2;]

(4) |zl+_22|3+|zl—22|2=2(|z]|2+|22|2)

A 2, 4R 2, 3 Wi wemd 5, @ Freera 3§ 9 A @ w0 e 2
(1) [z 22| =[24].|25]

(2) lzg+z =z |+ |2,]

B) |zy—z|=|z| — | 25]

@) |zgt2z, |24 | 29— 252 =2(| 2|2+ [25]?)

i

Options:-

=1, Option ID :- 525,
= 2, Option ID :- 526,
=« 3, Option ID :- 527,

« 4, Option ID :- 528,
Answer Given:- 2, Option ID : -526

Question ID:- 133

=ay] R and X T2 _2y—8 _z-=B

The angle between the two lines 1S :
-2 7 -3 -1 4 4

(1) 30°

(2) 60°

(3) 45°

(4) 90°

& —-x+2 =y—1= z4+3 3ﬂ1x+2 =2y—8= z—5 gﬁﬁﬁﬂﬂﬁﬂ[%:

—2 7 -3 -1 4 4
(1) 30°
(2) 60°
(3) 45°
(4) 90°
Options:-

«1, Option ID :- 529,
= 2, Option ID :- 530,
« 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

Question ID:- 134
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¥H2

GET IT ON
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y+1 z-3

Coordinates of a point/ the points on a line 3

5 units from a point P(1, 3, 3) is/are :

(1) (=2 —1,3)and (4 3,7)
(2) (=2; =1,3)

3) (=23, —1)and (4,7, 3)
(4) (4,7 3)

2 - g which is/are at a distance of

=1, Option ID :- 537,
= 2, Option ID :- 538,

. P x+2 y+1 z-3

34 fag & frawis, si fo = =J2 = W fea ® @en fig P(1, 3, 3) § 39! gl 5 591
g8

(1) (-2, -1,3) 34, 3,7

(2 (=2, —-1,3)

3) (=23, -1) 3”@, 7 3)

(4) @73
Options:-

=1, Option ID :- 533,

« 2, Option ID :- 534,

= 3, Option ID :- 535,

= 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534
Question ID:- 135

The wvalue of A for which the wvectors ; =4? UL g,? + 2}2’ 1_; = ? - 4}\' - 3}? and
— N N A W

¢ = \i + j — 3k are coplanar is :

(1) -4

(2)

(3) 8

(4)

— A N N = M A Y —¥ A M A 2

G § =47 +6j +2k b =i —4] —3k X ¢ =\j+ j — 3k FAACHAF AL :
() —4

(2 0

(3) 8

(4) 4
Options:-
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= 3, Option ID :- 539,

= 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136

The centre of a sphere which passes through the points (a, 0, 0), (0, b, 0), (0, 0, ¢) and (0, 0, 0),
(where a, b, c# 0) is :

w (300

@ (003)
o o0
o (533

a b ¢
@ [_5' iy 5*}
Options:-
«1, Option ID :- 541,
= 2, Option ID :- 542,
« 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 1, Option ID : -541

Question ID:- 137

If the function f{x) = (x — 1)(x —2)(x — 3) satisfy the Lagrange’s Mean Value Theorem in the interval
[0, 4]. The number of values of C will be :

(1) 0
(2 1
(3) 2
(4) 3
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FE flx)=(x—1)(x—2)(x—3) 1 A [0, 4] § LMV (H=a9H) T9T § C o HF/HA &1 9§81 8 ¢
(1) 0

2) 1

(3) 2

4) 3
Options:-

«1, Option ID :- 545,
« 2, Option ID :- 546,
= 3, Option ID :- 547,

« 4, Option ID :- 548,
Answer Given:- 4, Option ID : -548

Question ID:- 138

2
If f(x)=3x and g(x) = % +4 , then which of the following can be a discontinuous function ?

(D) fix)+g(x)

(2) flx)—glx)
(3)  flx)g()
@ 22

fx)

.
7fe fx) =3x AR g(x) = "‘? +4 & @ Frefefea § 9 @9 | arsdd W @ 2

(1) flx) +8(x)
(2)  flx)—g(x)
(3) fx)gx)
g(x)
4 L= M
Y e
Options:-

=1, Option ID :- 549,
= 2, Option ID :- 550,
« 3, Option ID :- 551,

= 4, Option ID :- 552,
Answer Given:- 4, Option ID : -552

Question ID:- 139
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COs X
1) T
sin x
(2 1-2y
COos X
@ 2y -1
Sin X
4 2,-1

Qﬁy:\fmef}f,%,Fﬁ%%:

_ COs X
(1) 1-2y
SIn X
Cos x
(3) 2y — 1
sin x
®  2y-1
Options:-

=1, Option ID :- 553,
« 2, Option ID :- 554,
= 3, Option ID :- 555,

= 4, Option ID :- 556,
Answer Given:- 4, Option ID : -556

- di
If Y=SIN X +VY then I‘; is equal to :

GET IT ON
Google Play

Question ID:- 140

hm(\/_?— 1) (2x — 3)

x—1 2:(2 +x -3

1
M 7

1
2 —3
3) 1

is equal to:
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lim . FHH
1—1 2% + x —3
b1
(1) 10
gy s
(2) - 10
(3) 1
4 -1
Options:-

=1, Option ID :- 557,
= 2, Option ID :- 558,
=« 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 3, Option ID : -559

GET IT ON
Google Play

Question ID:- 141

N . d
Solution of the differential equation ay + y cotx =4x cosecx, is :

(1) ysinx=2x>+c
(2) ysinx=x2+c
(3) ysinx+x®=c
(4) y sinx+2x?=c

AT THEHT % + y cotx =4x cosec X, I T ¢ :

(1) ysinx=2x"+c
(2) ysinx=x2+c
(3) ysinx+x*=c
(4) ysinx+2x?>=c

Options:-

=1, Option ID :- 561,
« 2, Option ID :- 562,
= 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563

Question ID:- 142



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

di
The solution of the differential equation (1 * IZ) T +1 y2 =0,is:

-

(1) tan=!x—tan~! y=c
(2) tan~ly+tan—lx=c
(3) tan~!y—xtan~! x=c
(4) tan~!'at+tan~!y=c

Wuﬁw(1+x2)%+1+y2=0,$rﬁa%:

(1) tan " !x—tan~ly=c

(2) tan " ly+tan—lx=c

3) tan"ly—xtan! x=c¢

(4) tan~!x+tan—ly=c
Options:-

«1, Option ID :- 565,
= 2, Option ID :- 566,
= 3, Option ID :- 567,

« 4, Option ID :- 568,
Answer Given:- 2, Option ID : -566

Question ID:- 143

A solution of the differential equation x dy—y dx=0 represents :
(1
(2
(3
(4

) a rectangular hyperbola.

) parabola whose vertex is at origin.

) straight line passing through origin.
) A circle whose centre is at the origin.

Fraha FHE, ¥ dy—y dx=0 % B Yaidid HI1 % :

(1) T HEHRIVE sifauae
(2) Waad S o gafeg g
(3) W& fa=g | SIdl g8\ W@
(4) U g Foren g g feg
Options:-

«1, Option ID :- 569,
= 2, Option ID :- 570,
= 3, Option ID :- 571,

= 4, Option ID :- 572,
Answer Given:- 3, Option ID : -571

Question ID:- 144
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Which of the following equation is a homogeneous differential equation ?
(1) (+ay) dy=(x"+y) dx

(2) Xcos (i) % = 1) cos (i) +

X X

(3) xﬂ_1+ xsm(}‘f‘—):[)
dx X

(4) «° % = x =2y +xy

fr=fafes § ¥ 6 91 guadE g% THIH 8 ?
(1) (P +ay) dy=(x?+y) dv

g |4 | B [34]+.
(2) lCOS{x) dr yCOS N X

(3) x%-lnl- xsh1(%)=0

(4 %= x =2y +xy

Options:-

«1, Option ID :- 573,
« 2, Option ID :- 574,
= 3, Option ID :- 575,

« 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

Question ID:- 145

The area of the region (in sq units) bounded by the lines x=2y+3, y=1 and y=—11is:
(1) 4

—_—
]
—
(@)

X 19w
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3, y=18Ry=—1%@R=d § R &3 %1 d3%d (T 36E § ) 8 :

Options:-

=1, Option ID :- 577,
« 2, Option ID :- 578,
=« 3, Option ID :- 579,

= 4, Option ID :- 580,
Answer Given:- 4, Option ID : -580

Question ID:- 146

/2
The value of J et (sinx — cos x) dx is:
0

() 1
(2) 0
-
@ I
(4) 2

/
J X (sinx —cosx)dx HIHA T :
0

(1) 1
(2) 0
3 T
(3) 5
(9 2
Options:-

=1, Option ID :- 581,
« 2, Option ID :- 582,
=« 3, Option ID :- 583,

= 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147
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The value of JCOS 2% — cos 29. dx is:
cos x — cos 0

(1) sinx—2x cosf+c
(2) 2(sinx—x cosf) +c
(3) 2(sinx+x cosb) +c¢
(4) 2sinx+x cosf+c

cos 2x — cos 20
I .dx FIEAT :
cos x — cos O

IR

I 5 p—,"—
[ SETE B i ]
—_— N N e

sinx — 2x cosf +c
2(sinx —x cosB) +c
2(sinx +x cosB) +c¢
2sinx +x cosf+c¢

Options:-

«1, Option ID :- 585,
= 2, Option ID :- 586,
= 3, Option ID :- 587,

« 4, Option ID :- 588,
Answer Given:- 1, Option ID : -585

GET IT ON
Google Play

Question ID:- 148

2
The value of j % dx, s
(xz + 1) (xz + 4)
(1) 1 tan 'y + = tan ! i
3 2
1 1 2 =
— —fan "x + — f@An — +C
(2 3 3 2
(3) 1 tan_]:c+1 tan ! = +¢
3 3
4 -~ 3 tan Tx+ — tan ' = +¢
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2
X
dx
, L
Y E .
(1) 1 tan lx+ = tan ! X +¢
3 3 2
3 == tan ‘% + — tan | = +¢
1 -1 -1 X
(3) —tan x+ - tan = = +c
3 3 2
-1 =1 &
— — fan x+ — tan — +cC
(4) ; 5
Options:-

=1, Option ID :- 589,
= 2, Option ID :- 590,
=« 3, Option ID :- 591,

= 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

GET IT ON
Google Play

Question ID:- 149

The circles x2+ _l,r?' +6x+2y+8=0 and 2+ ;;2 —8x—4y+4=0:
(1) touch internally.

(2) touch externally
(3) intersect each other.
(4) do not intersect.

EL .1‘2+};2+6x+23;+8=0 ar x2+}12—81'—4_lj+4=0 :
(1) sr=Re #9 ¥ el 3 81
2) R EYH Y H B

(

(3) W HL I Ufd=e id 2

(4) wid=e T8 FA |
Options:-

=1, Option ID :- 593,
= 2, Option ID :- 594,
=« 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 1, Option ID : -593

Question ID:- 150
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A survey shows that 54% of the students from an school like to read short stories where as 62% like
to read poems. If x%, of the students like to read both short stories and poems, then :

(1) x=84
(2) x=16
(3) 16 <x = 62
(4) 16 <x <54

U [ | urn T o faene % 549 famnedf &g Ut ugen ude #d € safe 62% fewned wfaand
T UHE FA § | A 1% faaned o wend qen swfaand wee =d &,

(1) x=84

(2) x=16

(3) 16 =x < 62

4) 16 =x <54

Options:-

=1, Option ID :- 597,
= 2, Option ID :- 598,
« 3, Option ID :- 599,

= 4, Option ID :- 600,
Answer Given:- 3, Option ID : -599

Question ID:- 151

If f(x)=sinx + cosx, then the maximum value of f(x) is :

1) 2

(2) 243
(3) 2
(49 342

?Tﬁf(:r) =sinx + cosx, @l flx) =1 siferraH 91 |

1) 2

(2 248

(3 2

(4) 32
Options:-

=1, Option ID :- 601,
= 2, Option ID :- 602,
= 3, Option ID :- 603,

= 4, Option ID :- 604,
Answer Given:- 1, Option ID : -601



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Question ID:- 152

If A is a square matrix, then which among the following is/are true ?
i) A+A’isa symmetric matrix,

i) A-—A'isa symmetric matrix.

iii) AA’is a skew symmetric matrix.

(
(
(
(
(2
(
(

1)  only (i) is true.
2) only (ii) is true.
3) only (iii) is true.
4) (i) and (iii) are true.

afe A ot Hfeam &, & Ffafaa § 9 @9 @& 222
() A+A’ T gHfd Aoy 7

(i) A— A’ T TAfg B 3

(ili) AA’ T faww gafad Afeey 21
(
(
&
(

1) <hed (i) He B
2) <A (i) Wl B
3) e (iii) T 1
4) (i) R (i) TE F )
Options:-

=1, Option ID :- 605,
= 2, Option ID :- 606,
= 3, Option ID :- 607,

« 4, Option ID :- 608,
Answer Given:- 4, Option ID : -608

GET IT ON
Google Play

Question ID:- 153

(1) 0
(2) 1
(3) 2
(4) 3

THIRTT (x —1)2+ (x —3)2 + (x—5)2 =0 % rEfas gail & §e&n ¢ :

() 0
2) 1
(3) 2
(4 3
Options:-

=1, Option ID :- 609,

The number of real roots of the equation (x —1)%+ (x—3)2+ (x—5)>=0 is :
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« 2, Option ID :- 610,
=« 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 3, Option ID : -611

Question ID:- 154

The minimum value of the quadratic function f(x) = 3xZ—6x+5 is
1 1
(2) 2
(3) 5
(4) 6

o e fix) =322 — 6x +5 T =FAH TH § :

(1) 1
(2) 2
(3) 5
(4 6
Options:-

=1, Option ID :- 613,
= 2, Option ID :- 614,
=« 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 2, Option ID : -614

Question ID:- 155

The algebraic sum of deviations of 25 observations from 18 is 75, then the mean of observations

15

(1) 18
2) 19
(3) 20
4 21

18§ 25 Tequi} o fa=aem &1 s 4 75 8, o Yol o 72 @

(1) 18
(2) 19
(3) 20
(4 21
Options:-

=1, Option ID :- 617,
« 2, Option ID :- 618,
=« 3, Option ID :- 619,
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« 4, Option ID :- 620,
Answer Given:- 1, Option ID : -617

Question ID:- 156

Value of cos2(° cosd(F cosb0® cosB0° is :

1
1 35
1
I
i
(3 3
1
@ 1

c0520° cosd? cosb0® cos80° =Rl HIH %l

1
1 3
1
2 7
1
3 3
1
4 17
Options:-

=1, Option ID :- 621,
= 2, Option ID :- 622,
= 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 2, Option ID : -622

Question ID:- 157

1+t
The least positive integer value of n, if [1—_:) =1 is:
(1) 1
(2y 2
(3) 3
(4) 4
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afq

(1)
(2
(3
(4

T S

247

[1+:‘
1—1i

1

= L

Options:-
=1, Option ID :- 625,
« 2, Option ID :- 626,

) =1 7, 99 n 1 a9 YAHS YUl qH © :

=« 3, Option ID :- 627,

« 4, Option ID :- 628,
Answer Given:- 4, Option ID : -628

GET IT ON
Google Play

(1

[

)
(2)
(3)
(4)

4

110
119
T15
121

(1) 110
(2) 119
(3) 115
(4) 121

Options:-

Question ID:- 158

«1, Option ID :- 629,
= 2, Option ID :- 630,
« 3, Option ID :- 631,

= 4, Option ID :- 632,
Answer Given:- 3, Option ID : -631

Out of 16 points in a plane no three are in straight line except 4 points which are collinear. The
number of straight lines that can be formed by joining them is :

U GHad H 16 feged § 4 fag S fop i@ 8, % steman & ot 9 fag v we Y@ = fea = g e
fetgll 1 g T A e ) s ) Hen

(1)
(2)
(3)
(4)

225

Question ID:- 159

For all ne N, 240 —15n —1 is divisible by :
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O neN & fau, 24— 15n—1 Ay § :

(1) 2259
(2) 1259
(3) 3259
(4) 3159
Options:-

=1, Option ID :- 633,
« 2, Option ID :- 634,
=« 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 1, Option ID : -633

Question ID:- 160

Ifp, g rarein AP.andx, y, zare in G.P. then x4y ~P-zP~ 4 is :

=
e

(1) 0
2) 1
3) -1
4) 2

i ,',rmaﬁﬁﬂmx,a,z ’%‘Gﬁﬁﬁ}lﬁaﬂ_"w"_l’-zp_qﬂmﬁ:
P-q Y Yy

1 0
2) 1
3 -1
4) 2
Options:-

=1, Option ID :- 637,
=« 2, Option ID :- 638,
= 3, Option ID :- 639,

« 4, Option ID :- 640,
Answer Given:- 1, Option ID : -637

Question ID:- 161

One vertex of the equilateral triangle with centroid at origin and one side x+y—2=01is :

D (=1 -1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

uF wHarg s e Fes ge fog o @ s v +y—2=07%, %1 T 9 T

(L -1 -1
2 (2.2

3 (-2 -2
4 (2 -2
Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 2, Option ID : -642

Question ID:- 162

The equation of a straight line passing through (1, 2) and perpendicular to x+y+1=01is :
(1) y—x+1=0
2) y+x+1=0
3) y—x—1=0

(
(
(4) a—=y+2=0

(1,2) § Breht SHaTel 991§ @ x+ 1y + 1=0 9T el T 6 FHIFT & :
(1) y—x+1=0

(2) y+x+1=0

() y-x-1=0

4) x-y+2=0

Options:-

=1, Option ID :- 645,
« 2, Option ID :- 646,
=« 3, Option ID :- 647,

= 4, Option ID :- 648,
Answer Given:- 3, Option ID : -647

Question ID:- 163

The number of common tangent to the circles 2+ _1;2=4 and x2+ 3;2—831:4- 12=01s:
(1) 1

(2
(3
(4

= W

)
)
)
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Eﬁﬁ xz+_12=4?lﬂﬂ.\:2+y2—8x+12=0ﬁ 3 Tq9IEl I T € :

m 1
(2) 2
(3) 3
(4) 4
Options:-

«1, Option ID :- 649,
= 2, Option ID :- 650,
= 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 2, Option ID : -650

Question ID:- 164

The maximum distance of the point (10, 7) from the circle 1‘2+y3—4x— 2y—20=01s :
(1) 10

2) 15
(3) 12
4) 20

g9 x2+y2—4x—2y—20=0 ¥ faig (10, 7) =l sifeerad gff @ :

(1) 10
(2) 15
(3) 12
(4) 20
Options:-

=1, Option ID :- 653,
= 2, Option ID :- 654,
= 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 2, Option ID : -654

Question ID:- 165

The point diametrically opposite to the point P(1, 0) on the circle 2+ yz +2x+4y—3=01s:
(1) (3.' _4)
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&g P(1, 0) %m%a@aﬁuﬂﬁﬁgﬁvL +y2+2x+4y—3=0WT :
1) @G, -

(2
(3
(4

4)
3, —4)
)

,,,J l'_,.|J
-

(
(
) (=
y K=
) G

3
W

i

Options:-

=1, Option ID :- 657,
« 2, Option ID :- 658,
= 3, Option ID :- 659,

« 4, Option ID :- 660,
Answer Given:- 2, Option ID : -658

Question ID:- 166

x
I::U X isequal to:

(1)

(2) 1

(3) — 7

(4) 2

.ltI:%.t{] 3 SRR %

(1) 0

(2) 1

3 -1

(4) 2
Options:-

=1, Option ID :- 661,
= 2, Option ID :- 662,
= 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 1, Option ID : -661

Question ID:- 167

The value of Lt x {tm‘i_1 [l—ﬂJ - Eil is :

X—co x+2 4
T
-
I
@ -3
3) 1
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Lt x {fan_l [ﬂj = E} FHAE

X—yeo x+2 4
By
1
y -1
@ -3
3 1
4 -1
Options:-

=1, Option ID :- 665,
= 2, Option ID :- 666,
= 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 2, Option ID : -666

Question ID:- 168

If 25% of items are less than 20 and 25% are more than 40, the quartile deviation is :

(1) 20
(2) 30
(3) 40
(4) 10

gfg 25% HEEH 20 § HH G991 25% 324 40 ¥ ifeew & a9 =Jq for=e @

(1) 20
(2) 30
(3) 40
(4) 10
Options:-

=1, Option ID :- 669,
= 2, Option ID :- 670,
=« 3, Option ID :- 671,

= 4, Option ID :- 672,
Answer Given:- 1, Option ID : -669

Question ID:- 169
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The mean of 5 observations is 4 and their variance is 5.2. If three of those observations are 1, 2 and
6, the other two are :

(1) 2and 9

(2) 3and8

(3) 4and7

(4) 5and6

5 GA&UN 1 HIEA 4 991 91 faw01 5.2 8| Afe 34 5 H ¥ oA WEe 1, 2, 6 B 99 S 2 WA §
(1) 27TaM9

(2) 3qA8

(3) 4TM7

(4 5TAM6
Options:-

«1, Option ID :- 673,
= 2, Option ID :- 674,
=« 3, Option ID :- 675,

« 4, Option ID :- 676,
Answer Given:- 2, Option ID : -674

Question ID:- 170

3x —4 :
If =y + 2, then x) dx is equal to :
f [3.1'+4) % '[f( ) 4

3x — 4
3x+ 4

(1) X2 log ‘ | + ¢

-8 2
2 —log|lx — 1|+ =—x+ ¢
@ gl | 5

=

(3) %Iog|x—'1|+%x+c

o

y—12 log‘ 3x + 4

e =
@ ot
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3x +

(1) ¢

I_zlog‘al'—-ﬂ:
3x+ 4

|+r:

—8 2
%4 ~1|+ = x+
(2) 5 og | x | 3x C

8 2
3 —log|lx—=—1|4+ =x+4+ ¢
3 3 g | 3

v+ 4
3x— 4

(4) eX 2 log ‘ | + c
Options:-

=1, Option ID :- 677,

= 2, Option ID :- 678,

=« 3, Option ID :- 679,

= 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Irfaf[Sx_i)=x+2%,ﬁa [£lx) dx = @ :

GET IT ON
Google Play

Question ID:- 171

b el
(1) log ﬁ +¢
(2) log L;DSI +€
(3) log ﬁ +€

(4) log |x+cosx| +¢c

f S e
(1) log ﬁ +¢
) log x+;osx b
(3) log ﬁ e

(4) log |x+cosx| + ¢
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Options:-

=1, Option ID :- 681,
« 2, Option ID :- 682,
« 3, Option ID :- 683,

= 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

GET IT ON
Google Play

Question ID:- 172

1
If f(x)=a+bx+cx?, then Jf(l) dx is :

0
W 3| 0+(3) |
@ | ro+26(3) @
@ | ro+as(3)+r

W 3 |r0+2(3)+r0]

1
35

o | =

(2)

o | =

(3)

1
4 3

Options:-

=1, Option ID :- 685,
« 2, Option ID :- 686,
=« 3, Option ID :- 687,

« 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173
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1
For the function f(x¥) =x + = x €[1,3], the value of C for mean value theorem is :

) B
(2) 3
3
® 3
1
4 3

HelA f(x)=x+%,x6[1,31 F fou, semr Y F fuCcH A § -

M) 3
@ -3

3
G 3

1
4 3
Options:-

=1, Option ID :- 689,
= 2, Option ID :- 690,
= 3, Option ID :- 691,

= 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Question ID:- 174

di
If y=sec(tan ~ 'x), then I{ atx=1is equal to :

@
SRR
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g y=sec(tan~lx), T x=1 T j—!: U T
1

1 3

(2 1

(3) 2

_ 1

4 75
Options:-

=1, Option ID :- 693,
= 2, Option ID :- 694,
=« 3, Option ID :- 695,

=« 4, Option ID :- 696,
Answer Given:- 2, Option ID : -694

GET IT ON
Google Play

Question ID:- 175

4 ] 2
- (a*—x"+x7) .
The minimum value of e s

(1) e
(2) 1
(3) e~
1
4 3

(1)
(2 1
(3) e*
1
49 3
Options:-

=1, Option ID :- 697,
= 2, Option ID :- 698,
« 3, Option ID :- 699,

= 4, Option ID :- 700,
Answer Given:- 2, Option ID : -698

Question ID:- 176
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= : AZ A2 A24
For any vector a , the value of (ax ‘.-) i ( ) TS (ax k) 18 :

ax j
2
2
(1) 3a
@
a
2
2
3 -,
2
da

"3
"3

5

— A A2 A
forell afew @ FF (3 ) 4 (ax §) + lax &) TE:

() 3a
2
(2 3
2
3 924
52
@ 0
Options:-

=1, Option ID :- 701,
« 2, Option ID :- 702,
=« 3, Option ID :- 703,

= 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

The image of point (—1, 3, 4) in the plane x—2y=01is:

0 [Z2

(2) (15, 11, 4)

‘) [—17’ —]9 }

o (554
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foig (—1, 3, 4) 1 qoeel v — 2y =0 ¥ wffeia & :

—=17 =19
i E w2 4
(1) ( 3 3 )

(2) (15, 11, 4)

® (55
o (554

Options:-

«1, Option ID :- 705,
= 2, Option ID :- 706,
« 3, Option ID :- 707,

« 4, Option ID :- 708,
Answer Given:- 3, Option ID : -707

Question ID:- 178

Three numbers chosen from 1 to 20. Probability that they are not consecutive is :

. 18
(D 190
187
(2) 190
, 188
(3 190
, 18
(4) 190

1920 T T T=AT DI S T | S FHIRT Tel e T Wl 2

i 186
( ) 190
y 187
(2) 190
g 188
() 190
4 183
(4) 190
Options:-

«1, Option ID :- 709,
= 2, Option ID :- 710,
= 3, Option ID :- 711,
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= 4, Option ID :- 712,
Answer Given:- 4, Option ID : -712

Question ID:- 179

If the corner points of the LPP, Z=13x—15y subject to the constraints x+y =<7, 2x—-3y+6 =0,
¥=0and y=0are (0, 0), (7, 0), (3, 4) and (0, 2), then the value of Maximum Z +3 Minimum Z

(1) 91
(2) 181
3) 1

4 -1

Ifg gfqane® x+y<7, 2x—3y+6=20, x>0 SR y =0 % AAHF LPP, Z=13x—15y &% &1 & 3ih
(BT % &) (0, 0), (7, 0), (3, 4) 3iR (0, 2) ¥ 1 2fersan Z 33 =" Z &1 7H 0 8 2

(1) 21
(2) 181
(&) =
(4) ]
Options:-

«1, Option ID :- 713,
= 2, Option ID :- 714,
« 3, Option ID :- 715,

= 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180

Which among the following is NOT a corner point of the LPP, maximize Z=4x+y subject to the
constraints, x+y <50, 3x+y<90,x=0,y=07?

(1) (0, 30)
(2) (20, 30)
(3) (50, 0)
(4) (30, 0)

x+y =50, 3x+y =90, x 20, y = 0 Yfqenuehi o eAT LPP Aftehad Z=4x+y &1 BT 3
(gfsTe =1 ofek) feaiferd o 9 N 7l €
(1) (0, 50)

(2) (20, 30)
(3) (50, 0)
(49 (30, 0)
Options:-

=1, Option ID :- 717,
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7

= 2, Option ID :- 718,
= 3, Option ID :- 719,

« 4, Option ID :- 720,
Answer Given:- 1, Option ID

1 =717

GET IT ON
Google Play

Print ResponseSheet
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Exam date : 18.02.2023

Qno Question Description

key

KVS RECURITMENT EXAM 2022

Provisional Answer Keys

Exam Shift : Evening

Qno Question Description

key

GET IT ON
Google Play

Post : PGT

Qno Question Description

key

001 General English

002 General English

003 General English

004 General English

005 General English

006 General English

007 General English

008 General English

009 General English

010 General English

011 General Hindi

012 General Hindi

013 General Hindi

014 General Hindi

015 General Hindi

016 General Hindi

017 General Hindi

018 General Hindi

019 General Hindi

020 General Hindi

021 General Awareness& Current Affairs
022 General Awareness& Current Affairs
023 General Awareness& Current Affairs
024 General Awareness& Current Affairs
025 General Awareness& Current Affairs
026 General Awareness& Current Affairs
027 General Awareness& Current Affairs
028 General Awareness& Current Affairs
029 General Awareness& Current Affairs
030 General Awareness& Current Affairs
031 Reasoning Ability

032 Reasoning Ability

033 Reasoning Ability

034 Reasoning Ability

035 Reasoning Ability

036 Computer Literacy

037 Computer Literacy

038 Computer Literacy

039 Computer Literacy

040 Computer Literacy

041 Understanding the Learner

042 Understanding the Learner

043 Understanding the Learner

044 Understanding the Learner

045 Understanding the Learner

046 Understanding the Learner

047 Understanding the Learner

048 Understanding the Learner

049 Understanding the Learner

050 Understanding the Learner

051 Understanding the Learner

N AR OWW=_S2NDMNDNOWOWRA=ASN_2BARARAMOW_2PADMNMBABOPAEAERAMNMMMNMNN=_2O=_2DNNA2O0O0PRAPA=22BDMNMDMMDMNMOMNMMMMAMOWODMNMNONDN

052 Understanding the Learner

053 Understanding the Learner

054 Understanding the Learner

055 Understanding the Learner

056 Understanding Teaching Learning
057 Understanding Teaching Leaming
058 Understanding Teaching Learning
059 Understanding Teaching Leaming
060 Understanding Teaching Learning
061 Understanding Teaching Leaming
062 Understanding Teaching Learning
063 Understanding Teaching Leaming
064 Understanding Teaching Learning
065 Understanding Teaching Leaming
066 Understanding Teaching Learning
067 Understanding Teaching Leaming
068 Understanding Teaching Learning
069 Understanding Teaching Leaming
070 Understanding Teaching Learning

071 Creating Conducive Learning Env. Etc.
072 Creating Conducive Leaming Env. Etc.
073 Creating Conducive Learning Env. Etc.
074 Creating Conducive Leaming Env. Etc.
075 Creating Conducive Learing Env. Etc.
076 Creating Conducive Learning Env. Etc.
077 Creating Conducive Learning Env. Etc.
078 Creating Conducive Learning Env. Etc.
079 Creating Conducive Learning Env. Etc.
080 Creating Conducive Learning Env. Etc.

081 MATHS
082 MATHS
083 MATHS
084 MATHS
085 MATHS
086 MATHS
087 MATHS
088 MATHS
089 MATHS
090 MATHS
091 MATHS
092 MATHS
093 MATHS
094 MATHS
095 MATHS
096 MATHS
097 MATHS
098 MATHS
099 MATHS
100 MATHS
101 MATHS
102 MATHS

N = NADNMNMNWON=20CWOWRAW=_0C~A,LA,LMMWP,PERA=200=_2DNDN_2DPRO0OODMNMABANR=2DBRB A WWWDMNMDMNNMW=_SDNNMNOWWADNDDOWMA

103 MATHS
104 MATHS
105 MATHS
106 MATHS
107 MATHS
108 MATHS
109 MATHS
110 MATHS
111 MATHS
112 MATHS
113 MATHS
114 MATHS
115 MATHS
116 MATHS
117 MATHS
118 MATHS
119 MATHS
120 MATHS
121 MATHS
122 MATHS
123 MATHS
124 MATHS
125 MATHS
126 MATHS
127 MATHS
128 MATHS
129 MATHS
130 MATHS
131 MATHS
132 MATHS
133 MATHS
134 MATHS
135 MATHS
136 MATHS
137 MATHS
138 MATHS
139 MATHS
140 MATHS
141 MATHS
142 MATHS
143 MATHS
144 MATHS
145 MATHS
146 MATHS
147 MATHS
148 MATHS
149 MATHS
150 MATHS
151 MATHS
152 MATHS
153 MATHS
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KVS RECURITMENT EXAM 2022
Provisional Answer Keys

Exam date : 18.02.2023 Exam Shift : Evening Post : PGT

Qno Question Description key | Qno Question Description key | Qno Question Description key
154 MATHS 105 GEOGRAPHY 156 GEOGRAPHY 3
155 MATHS 106 GEOGRAPHY 157 GEOGRAPHY 3
156 MATHS 107 GEOGRAPHY 158 GEOGRAPHY 1
157 MATHS 108 GEOGRAPHY 159 GEOGRAPHY 1
158 MATHS 109 GEOGRAPHY 160 GEOGRAPHY 1
159 MATHS 110 GEOGRAPHY 161 GEOGRAPHY 4
160 MATHS 111 GEOGRAPHY 162 GEOGRAPHY 4
161 MATHS 112 GEOGRAPHY 163 GEOGRAPHY 3
162 MATHS 113 GEOGRAPHY 164 GEOGRAPHY 2
163 MATHS 114 GEOGRAPHY 165 GEOGRAPHY 3
164 MATHS 115 GEOGRAPHY 166 GEOGRAPHY 4
165 MATHS 116 GEOGRAPHY 167 GEOGRAPHY 1
166 MATHS 117 GEOGRAPHY 168 GEOGRAPHY 3
167 MATHS 118 GEOGRAPHY 169 GEOGRAPHY 3
168 MATHS 119 GEOGRAPHY 170 GEOGRAPHY 2
169 MATHS 120 GEOGRAPHY 171 GEOGRAPHY 3
170 MATHS 121 GEOGRAPHY 172 GEOGRAPHY 3
171 MATHS 122 GEOGRAPHY 173 GEOGRAPHY 1
172 MATHS 123 GEOGRAPHY 174 GEOGRAPHY 3
173 MATHS 124 GEOGRAPHY 175 GEOGRAPHY 2
174 MATHS 125 GEOGRAPHY 176 GEOGRAPHY 2
175 MATHS 126 GEOGRAPHY 177 GEOGRAPHY 2
176 MATHS 127 GEOGRAPHY 178 GEOGRAPHY 3
177 MATHS 128 GEOGRAPHY 179 GEOGRAPHY 2
178 MATHS 129 GEOGRAPHY 180 GEOGRAPHY 4
179 MATHS 130 GEOGRAPHY

180 MATHS 131 GEOGRAPHY

081 GEOGRAPHY
082 GEOGRAPHY
083 GEOGRAPHY
084 GEOGRAPHY
085 GEOGRAPHY
086 GEOGRAPHY
087 GEOGRAPHY
088 GEOGRAPHY
089 GEOGRAPHY
090 GEOGRAPHY
091 GEOGRAPHY
092 GEOGRAPHY
093 GEOGRAPHY
094 GEOGRAPHY
095 GEOGRAPHY
096 GEOGRAPHY
097 GEOGRAPHY
098 GEOGRAPHY
099 GEOGRAPHY
100 GEOGRAPHY
101 GEOGRAPHY
102 GEOGRAPHY
103 GEOGRAPHY
104 GEOGRAPHY

132 GEOGRAPHY
133 GEOGRAPHY
134 GEOGRAPHY
135 GEOGRAPHY
136 GEOGRAPHY
137 GEOGRAPHY
138 GEOGRAPHY
139 GEOGRAPHY
140 GEOGRAPHY
141 GEOGRAPHY
142 GEOGRAPHY
143 GEOGRAPHY
144 GEOGRAPHY
145 GEOGRAPHY
146 GEOGRAPHY
147 GEOGRAPHY
148 GEOGRAPHY
149 GEOGRAPHY
150 GEOGRAPHY
151 GEOGRAPHY
152 GEOGRAPHY
153 GEOGRAPHY
154 GEOGRAPHY
155 GEOGRAPHY

A =2 WONBABDN=_20ORODMNMBAE_2ODNOBAEB=_ASEDNODN=2OPROODMNMPAMODMNMNPAE_2WO=_2DPNDNOADNMDMDODMNMNWOWON=_2WORMAMAMMADND
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